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UTTAR PRADESH POWER CORPORATION LTD.

[Participant ID WWW.ALLEXAMREVIEW.COM
Participant Name

Test Center Name

Test Date 17/11/2023

Test Time 9:00 AM - 12:00 PM

Subject Technician Electrical

Section : Computer Knowledge - CCC Level of NIELIT

Q1 UNIVAC computer used:

Ans X A Transistors
+ B. Vacuum tubes
X C. Small scale integrated circuits
X D. Only diodes, resistors and capacitors
Question ID : 630680437622
Option 11D : 6306801708283
Option 2 1D : 6306801708285
Option 3 1D : 6306801708284
Option 4 ID : 6306801708282
Status : Not Answered
Chosen Option : --
Q.2 Network can connect devices across a larger geographical area but is typically maintained by multiple
administrators rather than a single entity.
Ans

X A Personal Area

X B. Local Area

X C. Enterprise Private
+ D. Wide Area

Question ID : 630680437650
Option 1 ID : 6306801708394
Option 2 ID : 6306801708396
Option 3 ID : 6306801708397
Option 4 ID : 6306801708395
Status : Answered
Chosen Option : D
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Q.3  In MS Excel spreadsheet, the relative cell address of the cell in the fourth row and fifth column will be:

Ans X A D
X B. 4E
XcC D5
« D. E4

Question ID : 630680437642
Option 1 ID : 6306801708362
Option 2 ID : 6306801708364
Option 3 ID : 6306801708363
Option 4 ID : 6306801708365
Status : Answered
Chosen Option : D

Q.4 In MS-Word (Microsoft 365 edition). what is the shorteut key for closing a MS-Word document file?
Ans XA Ctrl+Ss

X B. Ctrl+C

XcC cr+X

' D. Ctrl+W

Question ID : 630680437637
Option 1 ID : 6306801708343
Option 2 ID : 6306801708342
Option 3 ID : 6306801708345
Option 4 ID : 6306801708344
Status : Answered
Chosen Option : D

Q.5  If the computer has a command key (38) on the keyboard, then the operating system on the computer is-

Ans X A. Chrome OS
X B. Windows
X C. Linux
+« D. macOS

Question ID : 630680437630
Option 1 ID : 6306801708317

Option 2D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

6306801708314
6306801708316
6306801708315
Answered

B

https://cdn.digialm.com/per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/1258023535/1258023535529D456/17003970781511260/6. ..

21111



11/23/23, 2:54 PM

Q.6 To change the display properties, we have to Right click on desktop and select ___ from displaying options.
Ans X A. Dictionary

X B. Track device

X C. Accounts

« D. Personalize

cdn.digialm.com/per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/1258023535/1258023535S29D456/170039707 ...

Question ID : 630680437633
Option 11D : 6306801708328
Option 2 ID : 6306801708329
Option 3 ID : 6306801708327
Option 4 ID : 6306801708326
Status : Answered
Chosen Option : D
Q.7  In the following screenshot of MS Excel (Microsoft version 365), which one refers to “Menu Bar?”
(T A) (8 (o)
RS r 2
II_A ..... - /r w - KK = i
Ans 2 A D
XB C
Xc B
XD A
Question ID : 630680437644
Option 11D : 6306801708373
Option 2 ID : 6306801708372
Option 3 ID : 6306801708371
Option 4 ID : 6306801708370
Status : Answered
Chosen Option : A
Q8 tWhich one of the following statements is INCORRECT?
Ans A Software cannot be transmitted electronically.
X B.
Hardware is any physical device used in or with your machine.
X C.
All software utilizes at least one hardware device to operate.
X D. You can touch hardware, but you cannot touch software.
Question ID : 630680437626
Option 11D : 6306801708301
Option 2 ID : 6306801708300
Option 3 ID : 6306801708298
Option 4 ID : 6306801708299
Status : Answered
Chosen Option : A
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Q9 Select the option that represents the correct matching of the below lists.

LIST-1
LIST-2
() File
(A) Part of storage medium is virtually separate from the rest of the storage.
(I1) Directory
(B) Logical unit of informartion created by processes.
(1) Partition (c) Gives information of the purpose of and information in the file.
{IV") File Extension | (D) Location on storage that stores several files within itself.

Ans @ A (D-(B). (ID-(D), (IID-(A), (IV)-(C)
X B (D-(D), (II)-(B), (II)-(A), (IV)-(C)
X ¢ (D-(A), (II)}-(D), (IID-(C), (IV)-(B)
X D. (I)-(B). (II)-(A), (IIT)~(D), (IV)-(C)

Question ID : 630680437632
Option 1 ID : 6306801708322
Option 2 ID : 6306801708323
Option 3 ID : 6306801708324
Option 4 ID : 6306801708325
Status : Answered
Chosen Option : B

Q.10 Tn the following spreadsheet in MS Excel, the formula =AVERAGE (A1:El)
1s entered in cell E1. What kind of error would this be?

A5 8 | ¢ | o | E
10 4| 7|9
2
e

Ans X A. Maths error
« B. Circular reference error
X C. Logical error

X D. Statistical error

Question ID : 630680437646
Option 1 ID : 6306801708380
Option 2 ID : 6306801708379
Option 3 ID : 6306801708378
Option 4 ID : 6306801708381
Status : Answered
Chosen Option : A
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Q.1 . T & T a3 sinee qed §-afEe wewia ed g S Fperaree, dE-aeue, 9
Iue, ST AN 3T AT MEARAT B R AT ¢ SHR T SR AHR GENT B
TS

Ane X A feferateT (Digi Locker)
V5 T (SWAYAM)

X c. AT (MyGov)
X p. 17 (BHIM)

Question ID : 630680437627
Option 11D : 6306801708304
Option 2 ID : 6306801708302
Option 3 ID : 6306801708305
Option 4 ID : 6306801708303
Status : Answered
Chosen Option : B

Q12 "mr3F FE (sound card)”, ¥ TR F TG & ¥ B9 0 & o 65 22
Ans X A TN (Storage)

x 8. $o19¢ (Input)

v C. 33T (Output)

X D. 9r&F (Process)

Question ID : 630680437623

Option 11D :

Option 21D :
Option 31D :
Option 4 ID :

Status :

6306801708289
6306801708286
6306801708287
6306801708288
Answered

Chosen Option: C

Q13 Sxfar (Instructions)” & TgsT & eaTaRT & ¥ F-0T e aad &7

Ans X A
F # BEAE e ¥ v FERT w= &g smews )
X B.
fandlr FFegeT JIeTH EEN FEEET WA @ AT T v A
«” C.
faftre ore e F 5 T R w7 € e BT aw diteam oieRe # Fe
X D.

TOT, A TR @ o FRE g AR TEHR GERT Fae AT ST gl

Question ID : 630680437624
Option 11D : 6306801708292
Option 2 1D : 6306801708293
Option 31D : 6306801708291
Option 4 1D : 6306801708290
Status : Not Answered
Chosen Option : --
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Q.14 Inorder to change the row height of the selected column in MS Excel 365, you can find the options under the following:
Ans X A Format icon under the View tab.
X B. Width icon under View tab
+ C. Format icon under the Home tab.
X D. Width icon under Page Layout tab.
Question ID : 630680437648
Option 1 1D : 6306801708387
Option 2 ID : 6306801708389
Option 3 ID : 6306801708386
Option 4 ID : 6306801708388
Status : Answered
Chosen Option: C
Q.15 A SR ARfAP FHG B TRABR UG BT ¢ Sl debTd, 24X7, §eID
ATl UR TR fopar oI gehdT B
Ans X A IFSC
X B . NEFT
« C. IMPS
XD RTGS
Question ID : 630680437667
Option 11D : 6306801708465
Option 2 ID : 6306801708463
Option 3 ID : 6306801708464
Option 4 ID : 6306801708462
Status : Answered
Chosen Option : B
Q.16 gt Bewaw AT @ oier, % o8 W T BT AT FGHR F1F (QR Codes) F Hrel Ft
# mEraar war &1 A, v P S i sawehe TR SET 8, a8 34T & a9 2T & 3 39
3T & A TeaEaaT Yed #T HEYHEAT g B
Ans ¢ - .
v A TaTSAHC Afhed (Alignment markings)
X B.
ge1 3T T wERE F (Data and error correction keys)
X C. ZEfAET Y2 (Timing pattern)
X 0. BhiHE SABIAAA (Format information)
Question ID : 630680437664
Option 1 ID : 6306801708453
Option 2 ID : 6306801708452
Option 3 ID : 6306801708450
Option 4 1D : 6306801708451
Status : Not Answered
Chosen Option : --
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Q17 A is a physical card that can be used to make purchases, pay bills or depending on the card, withdraw cash. The
simplest way to think of it is as a type of short term loan.

Ans X A RuPay card
X B. Prepaid card

& C. Debit card
« D. Credit card

Question ID : 630680437665
Option 1 ID : 6306801708457
Option 2 ID : 6306801708456
Option 3 ID : 6306801708455
Option 4 ID : 6306801708454
Status : Answered
Chosen Option : D

Q.18 vaATH-7% (AEFHETE 365 HEUT) & FeAated # ¥ 6 veee & v Befed e @ seaeT
"Eae (Table)" # Fhgere= &g BFar smew &7

(]

ER
A XA SHE e (Insert Above)
x 8. B¥tege U (Distribute Rows)
v C. B g (Split Table)

X 0. @< Tt (Insert Below)

Question ID : 630680437639
Option 1 ID : 6306801708353
Option 2 ID : 6306801708352
Option 3 ID : 6306801708350
Option 4 ID : 6306801708351
Status : Answered
Chosen Option : C

Q.19 Umang app was developed by the NeGD and MeitY. The full form of Umang, NeGD and MeitY is-

Ans X A. United Mobile Application for New-age Government, National e-Governance
Department, Ministry of Electronics and Information Technology.

4 B. Unified Mobile Application for New-age Governance, National e-Governance
Division, Ministry of Electronics and Information Technology.

#< C. United Mobile Application for New-gen Governance, National e-Governance
Department, Ministry of Electronics and Information Technology.

/% D. Unified Mobile Application for New-age Government, National e-Government
Division, Ministry of Electronics and Information Technology.

Question ID : 630680437662
Option 1 ID : 6306801708444
Option 2 ID : 6306801708442
Option 3 ID : 6306801708445
Option 4 ID : 6306801708443
Status : Answered
Chosen Option : D
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which of the following two additional tabs in the Ribbon to appear?

Ans X A Insert and Layout
« B. Table Design and Layout
X C. Table Design and View
X D. Insert and Table Design

Q.20 Ina MS Word (Microsoft 365 version), you have positioned the cursor inside one of the cells of a Table. This causes

Question ID : 630680437641
Option 11D : 6306801708360
Option 2 1D : 6306801708358
Option 3 1D : 6306801708359
Option 4 1D : 6306801708361
Status : Answered
Chosen Option : D
Q21 & gaa & F T FT
TEE GO & 'y # Aol 7 ¥ Fa-ar Fua e 22
Ans X A
TTSET BT 3T T UF Hedraeds HET a1 747 ¢
o B.
WIFET G FT AR, IRH, T, Feae AN Brd §HTAANET F IIART FH TFAFGE TRaAr SAar
gl
X C.
TIgE 379 Hael G oF & SIS A8 1§ T4 §, Tg 37T A HERE § o 3 e g
X D.
g FuR e, deas #R AR Rfvee Siea #1 ey @ =9 AT 5= W SR E
Question ID : 630680437671
Option 11D : 6306801708481
Option 2 1D : 6306801708479
Option 3 1D : 6306801708480
Option 4 1D : 6306801708478
Status : Answered
Chosen Option : B
Q.22 The following image is from a screenshot of MS Excel spreadsheet. The cursor is at Row 4, you right click the mouse,
and then choose the option “Insert”. Now what would be the cell address of the cell containing the number 467
€ fx
A c (] E F G H
; 51 52 53 54 55
a4 a5 46 47 | 48 43 |
E‘ 34 35 36 37 38
Ans X A E4
X B E3
X C D4
¢ D. E5
Question ID : 630680437647
Option 11D : 6306801708383
Option 2 1D : 6306801708384
Option 3 1D : 6306801708385
Option 4 1D : 6306801708382
Status : Answered
Chosen Option : A
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Q.23 y|] form of WIMP in the context of an operating system’s interface is:
Ans X A. Windows, Icons, Menus and Pixel

+ B. Windows, Icons, Menus and Pointer

X C. Windows, Icons, Mouse and Pixel

& D. Windows, Icons, Mouse and Pointer

Question ID : 630680437629
Option 1 ID : 6306801708310
Option 2 ID : 6306801708312
Option 3 ID : 6306801708313
Option 4 ID : 6306801708311
Status : Answered
Chosen Option : B
Q.24 Which of the following slide Layouts in MS PowerPoint 365 has the layout of “Title slide”
i) ii) iii) iv)
Ans X A ll:l
X B. Iv)
X C. iii)
0. i)
Question ID : 630680437657
Option 1 ID : 6306801708423
Option 2 ID : 6306801708425
Option 3 ID : 6306801708424
Option 4 ID : 6306801708422
Status : Answered
Chosen Option : B
Q25 Which of the following is NOT an example of a voice chat system?
Ans X A Google Meet
X B. Zoom
+ C. Facebook
X D. Apple Facetime
Question ID : 630680437653
Option 1 ID : 6306801708408
Option 2 ID : 6306801708407
Option 3 ID : 6306801708409
Option 4 ID : 6306801708406
Status : Answered
Chosen Option: C
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Q.26

Ans

In the context of Internet, full form of DSL is:
+ A. Digital Subscriber Line

X B. Digital Subscriber Layer

X ¢. Digital Subscriber Link

X D. Digital Subscriber List

Chosen Option :

Question ID : 630680437651
Option 1 ID : 6306801708399
Option 2 ID : 6306801708398
Option 3 ID : 6306801708400
Option 4 1D : 6306801708401
Status : Answered
Chosen Option : B
Q.27 vaww I (FSFEE 365) F TT & Fow & @ 98 siEgEe # Tedie §9 F Tael 3% Hiey
(Table of Contents)" FAE T &1 ¥R & =T eedt § & 39 AT &1 == fifow, =
@ 3 W W TF ¥ e A6 Y
Ans ) 1A
X A ZFS 3TH e (Table of Contents)
X B. 3%{T (References)
v ¢ BFT=E (Design)
X D. IS (Styles)
Question ID : 630680437640
Option 11D : 6306801708357
Option 2 ID : 6306801708355
Option 3 ID : 6306801708356
Option 4 ID : 6306801708354
Status : Answered
Chosen Option : B
Q.28 also refers to legitimate software that monitors your data for commercial purposes like advertising.
Ans s A Spyware
X B. Jailbreaking
X C. Man-in-the-Middle attacks
X D. Phishing
Question ID : 630680437670
Option 1 ID : 6306801708474
Option 2 ID : 6306801708476
Option 3 ID : 6306801708477
Option 4 ID : 6306801708475
Status : Not Answered

https://cdn.digialm.com/per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/1258023535/1258023535529D456/17003970781511260/...

10/111



11/23/23, 2:54 PM cdn.digialm.com/per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/1258023535/1258023535S29D456/170039707 ...

Q2% The full form of BHIM. which uses UPI is:
Ans X A Bharat Interconnect for Money
X B. Bharat Intercorporate Money
+ C. Bharat Interface for Money

X D. Bank Interface for Money

Question ID : 630680437663
Option 1 ID : 6306801708448
Option 2 ID : 6306801708449
Option 3 ID : 6306801708446
Option 4 ID : 6306801708447
Status : Answered
Chosen Option : C

Q.30 Which one of the following statement is FALSE w.r.t. word processing software MS-Word?
Ans X A
A text document can be created and later edited, whenever required.

X B. Tt allows tables to be created and included in the text.
xc
The word document can also contain images and sound clips.

« D. It is very often used for making presentations.

Question ID : 630680437635
Option 1 ID : 6306801708334
Option 2 ID : 6306801708336
Option 3 ID : 6306801708335
Option 4 ID : 6306801708337
Status : Answered
Chosen Option : D

Q.31 Among the social networking platforms — Facebook, YouTube, WhatsApp, Instagram, LinkedIn , which one is the
oldest platform?

Ans & A LinkedIn
X B. Instagram
X C. Facebook
X D. WhatsApp

Question ID : 630680437660
Option 1 ID : 6306801708435
Option 2 ID : 6306801708437
Option 3 ID : 6306801708434
Option 4 ID : 6306801708436
Status : Answered
Chosen Option : A
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Q.32

Ans

Gmail is an example of:
X A Desktop mail

+ B. Webmail

X C. Snail mail

& D. Offline mail

Question ID : 630680437658
Option 1 ID : 6306801708428
Option 2 ID : 6306801708426
Option 3 ID : 6306801708427
Option 4 ID : 6306801708429
Status : Answered
Chosen Option : B
Q.33 Which one of the following Icon is NOT present under the “Home" tab of the Ribbon of MS-Word (Microsoft 365
edition)?
Ans XA _ z
xe <
X C. le=m
" D. |+—] ]
Question ID : 630680437636
Option 1 ID : 6306801708341
Option 2 ID : 6306801708340
Option 3 ID : 6306801708338
Option 4 ID : 6306801708339
Status : Not Answered
Chosen Option : --
Q.34 You are in the process of purchasing an item using a e-commerce site using a debit card. The e-commerce site wants to
know the CVV number. What is the full form of CVV?
Ans o A Card Verification Value
X B. Credit Verification Value
X C. Customer Validation Value
X D. Card Validation Value
Question ID : 630680437666
Option 1 ID : 6306801708459
Option 2 ID : 6306801708460
Option 3 ID : 6306801708458
Option 4 ID : 6306801708461
Status : Answered
Chosen Option : A
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Q.35 This bus usually a set of wires that links the CPU to the RAM (and to other places). If the CPU want to fetch an
instruetion from a particular location in RAM, or wants to write a piece of data to a particular location in RAM, it puts
the specific location details on the this bus.

Ans X A Control Bus
X B. Communication Bus
X C. Data Bus
+ D. Address Bus

Question ID : 630680437628
Option 1 ID : 6306801708306
Option 2 ID : 6306801708309
Option 3 ID : 6306801708308
Option 4 ID : 6306801708307
Status : Answered
Chosen Option : D

Q.36 In MS Excel (Microsoft 365 version), the Household expense data given in the table below has to be summarised
visually as shown in the figures below. Which tool would use?

1
Hiouchokd Expenmes by Manth
2015 Clatting. o0k same | ™*
2017 Clatting Bib-Shots. sepon %
2015 Clathing_hom: 10000 6% | e
2017 Clthing S0 oo | .,
o ™ - sm
. 52,300 % -
o a 00 aew | = I m I » I
16 Baes 50,300 =

2016 Components Mottom Brackets 1,000 1%

Ans X A Table to Chart Converter
X B. PivotTable
+ C. PivotChart
X D. Chart

Question ID : 630680437649
Option 1 ID : 6306801708393
Option 2 ID : 6306801708390
Option 3 ID : 6306801708391
Option 4 ID : 6306801708392
Status : Answered
Chosen Option : A

Q.37 You are writing an email using Gmail and have written part of it. You want to complete writing this email, the next day.
In which folder would you find this partially written email of yesterday?

Ans X A Temporary
X B. Inbox
X C. Snoozed
+ D. Draft

Question ID : 630680437659
Option 1 ID : 6306801708430
Option 2 ID : 6306801708433
Option 3 ID : 6306801708432
Option 4 ID : 6306801708431
Status : Answered
Chosen Option : D
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Q.38 The name for every new version of update is based on *desserts’ for example Cupcake, Donut. Eclair, Oreo, KitKat, etc.
for the operating system

Ans X A Blackberry OS

+ B. Android OS
X C. Apple 105

X D. Symbian OS

Question ID : 630680437634
Option 11D : 6306801708332
Option 2 ID : 6306801708330
Option 3 ID : 6306801708331
Option 4 ID : 6306801708333
Status : Answered
Chosen Option : B

Q.39 ¥ AN A U AREd FAT H R sfET, AU Agge W AR A ghEr Sedr &1 e
TF ;M ToaE A HE F shw G ofr wew s, ven, g #k sew faor aewh
T W F T 8 AR AW FE O T e 2

Ane X A grefs @f¥er (Hybrid leaming)
v & HfBFFE A= (Asynchronous learning)
X c. f@FIA" AT (Synchronous learning)
X 0. vEIfteg g-af=eT (Adaptive e-learning)

Question ID : 630680437652
Option 11D : 6306801708404
Option 2 ID : 6306801708403
Option 3 ID : 6306801708402
Option 4 ID : 6306801708405
Status : Not Answered
Chosen Option : --

Q40 Tmfafea & ¥ sl 720, o o7 & 79 == ¥ 30% ¥ ot =78 ¥
AN X A ¥fFET (Ranking)

X B. ghiferT (Crawling)

v ¢ 3feEar (Routing)

% 0. g2fF|T (Indexing)

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680437654
6306801708413
6306801708410
6306801708412
6306801708411
Answered

B
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Q.41 Every theme in PowerPoint includes a set of

Ans X A. slide bodies
X B. slide masters

X C. slide templates

« D. slide layouts

predefined arrangements for your slide content.

Question ID : 630680437655
Option 1 ID : 6306801708414
Option 2 ID : 6306801708416
Option 3 1D : 6306801708415
Option 4 ID : 6306801708417
Status : Answered
Chosen Option : B
Q.42 1n MS PowerPoint 365, the shortcut key for ending a slide show in Windows environment is:
Ans X A Ctrl+E
X B. Ctrl+T
X C. Tab
« D. EsC
Question ID : 630680437656
Option 1 ID : 6306801708420
Option 2 ID : 6306801708419
Option 3 ID : 6306801708421
Option 4 ID : 6306801708418
Status : Answered
Chosen Option : D
Q43 e ot F BT loT & 399NT & §9y § Heaold & ¥ -8 Fua 7oT §7
Ans : :
X A FATE wrstesT yunferat & e B &7 e g
X & 3G @ oTEeAT 3R AR % T @ AT g
X C.
e, AT AR TRIERAl ST ATy FTEHAST FT HTETOT HIEIFRATHT H T A g
v 0. IS T FIUT F ATCTR ¥ M FH H g
Question ID : 630680437668
Option 1 ID : 6306801708467
Option 2 ID : 6306801708466
Option 3 ID : 6306801708468
Option 4 ID : 6306801708469
Status : Answered
Chosen Option : D
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Q44 The company Meta Inc. owns -

Ans X A. Facebook, LinkedIn, YouTube
+ B. Facebook, WhatsApp, Instagram
X C. Facebook, LinkedIn, Instagram
X D. YouTube, WhatsApp, Instagram

Question ID : 630680437661
Option 1 ID : 6306801708441
Option 2 ID : 6306801708438
Option 3 ID : 6306801708439
Option 4 ID : 6306801708440
Status : Answered
Chosen Option : D
Q.45 You want to insert one column in MS Excel (Microsoft version 365). The icon for inserting columns is located in the
_ tabof the Ribbon.
Ans A Home
X B. View
X C. Insert
& D. Page Layout
Question ID : 630680437645
Option 11D : 6306801708375
Option 2 ID : 6306801708377
Option 3 ID : 6306801708374
Option 4 ID : 6306801708376
Status : Not Answered
Chosen Option : --
Q.46 Which one of the following statements is FALSE w.r.t “Page Setup” in MS-Word (Microsoft 365 version)?
Ans X A. Word allows you to customize the size of page margins.
X B.
Word offers two page orientation options: landscape and portrait.
« C.
Landscape orientation means the page is oriented vertically.
X D. By default, a new document's margins are set to Normal.
Question ID : 630680437638
Option 1 ID : 6306801708349
Option 2 ID : 6306801708346
Option 3 ID : 6306801708347
Option 4 ID : 6306801708348
Status : Answered
Chosen Option : C
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Q.47 _ performs simple addition, subtraction, multiplication, division, and logic operations, such as OR and AND.
Ans X A. Control Unit

X B. Instruction Register

X c. Program Counter

D ALU

Question ID : 630680437625
Option 1 ID : 6306801708294
Option 2 ID : 6306801708295
Option 3 ID : 6306801708297
Option 4 ID : 6306801708296
Status : Answered
Chosen Option : D

Q.48 fBr=er sifivees g & TR FhF 35¢r (upside-down) T 180 Rl X e @ smeefn

A X a drfe (=) A= [Portrait (flipped) mode]
v & 5T (fFeres) As [Landscape (flipped) mode]
X c. of=TFT W1F (Landscape mode)
X 0. 9ifz AE (Portrait mode)

Question ID : 630680437631
Option 11D : 6306801708320
Option 2 1D : 6306801708318
Option 3 ID : 6306801708319
Option 4 ID : 6306801708321
Status : Answered
Chosen Option : B

Q.49 Frr & 1% s & A E1 o7 Biee Fol TG §1 TG Fiee FaT FoshT Fel T fgar e, ar g
E1 # Far wef¥a greme

| & = fr =SUM{AL:C)

A » € | E
1]a 7 8 9
2

Ans X A 10
X B. Herror!
XC 24
¥ D. 15

Question ID : 630680437643
Option 11D : 6306801708368
Option 2 ID : 6306801708366
Option 3 ID : 6306801708369
Option 4 ID : 6306801708367
Status : Answered
Chosen Option : B
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oo & G ¥ = 3 B S B

Ans X A derferr fredwuT (Diagnostic Analytics)
v & AT freemur (Predictive Analytics )
X C. gUTATcH® TaRawur (Descriptive Analytics)
X D. g&T @A (Data Mining)

Q.50 # ufesy F oy & gfesgaonT ==, 3P SI%ET A s o we w1 F B G

Question ID : 630680437669
Option 11D : 6306801708472
Option 2 1D : 6306801708470
Option 3 ID : 6306801708473
Option 4 ID : 6306801708471
Status : Answered
Chosen Option : B
Section : General Study & Logical Reasoning
Q1 =W :eR-wg BT v § O @ 9w el R ¥ v mEe € R v aEEE ¥ 3w e oS
EaiE 1|
Ans X A FK
X 8. DI
X C GL
+D. 05
Question ID : 630680437688
Option 11D : 6306801708546
Option 2 1D : 6306801708547
Option 3 ID : 6306801708548
Option 4 1D : 6306801708549
Status : Answered
Chosen Option : D
Q.2 o= fAfts e s &, BASINET & UFOJTBC % &9 # Feae far =ar §1 3@ smwr & REMORSE
= forg &R feaeg fear smee?
Ans X' A FTSPFNS
v 5 FTSPNFS
X c. FTPSNFS
X D. FSTPNFS
Question ID : 630680437685
Option 1 1D : 6306801708536
Option 2 ID : 6306801708537
Option 3 1D : 6306801708534
Option 4 1D : 6306801708535
Status : Answered
Chosen Option : B
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Q.3 FaeT 2022 9% F FgER, FEAiEE # @ Fi9 oRg F geu T agee F 98 W 6 @

Ans vA & ud. BT "
x e gefrer =g
X c. e 3T

X D. 31 JepTer Tad

Question ID : 630680437681
Option 11D : 6306801708521
Option 2 ID : 6306801708518
Option 3 ID : 6306801708519
Option 4 ID : 6306801708520
Status : Answered
Chosen Option : A

U ST A T ART ¥ R F ® P o & R
Ans X A mg

XB.ﬁEﬂT

v C 3fEer

XD BedideTe

Question ID : 630680437677
Option 11D : 6306801708505
Option 2 ID : 6306801708504
Option 3 ID : 6306801708502
Option 4 ID : 6306801708503
Status : Answered
Chosen Option: C

Q5 vs WRET 5z amwr &, DEMAND &t ANDDEM % &9 & %zag m Sar §1 3@ emar & DIRECT &t
frmr 9o Feee e Sroem?

Ars v A ECTDIR
X 8. ETCDIR
X ¢. ECTIDR
X D. ECTDRI

Question ID : 630680437684
Option 11D : 6306801708531
Option 2 ID : 6306801708533
Option 3 1D : 6306801708532
Option 4 ID : 6306801708530
Status : Answered
Chosen Option : A
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Q.6 ofy wfr ereel Fr weY F1 WE IGFEA H sgaitud A AW, F SR F § w9 uw
AT T 9 3TC?

Ans X A Play

X B. Place
X c. Party
+ D. Plant

Question ID : 630680437683
Option 11D : 6306801708529
Option 2 ID : 6306801708528
Option 3 ID : 6306801708527
Option 4 ID : 6306801708526
Status : Answered
Chosen Option : B

Q7 mF fen #femm & e, 5Ra F FERRa #§ ¥ B @ suesd @ o o9
A o e Ty S

x 8. gfer amedr

X ¢ meaAAEa foE

X0 TSl amTedy

Question ID : 630680437676
Option 11D : 6306801708498
Option 2 ID : 6306801708501
Option 3 ID : 6306801708500
Option 4 ID : 6306801708499
Status : Answered
Chosen Option : A

Q8 Craffw wHET # BT X F BT B @ Tt # aee § s Je AR
70 + 14 - 35 + 19 x 23 = 425
Ans X a 35 3T 19
VB 14 3T 35
xc 70 3T 19
X D. 70 3R 35

Question ID : 630680437691
Option 1 1D : 6306801708560

Option 21D :
Option 3 ID :
Option 4 ID :
Status :

Chosen Option :

6306801708558
6306801708561
6306801708559
Answered

B
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Q9 v ¥ O A ¥ @y iR ¥ w@, A =0 & Rmr fr gt o, gred ol & A g s
# 3 hied ¥ 4T He 7

A" K A STET/ETATIGE/FET

X B o
X C fRar

& D. THTL_‘;T
Question ID : 630680437686
Option 1 ID : 6306801708541
Option 2 ID : 6306801708539
Option 3 ID : 6306801708538
Option 4 ID : 6306801708540
Status : Answered
Chosen Option : D
Q10 ey o (SR gam T F AH G ol A AT D) # =TT AASATT @RI AT S arer U
7T F
Ans XA Parersr

XB.ﬂﬁ‘rg'\r

v C ATETeE
X 0. fafFss

Question ID : 630680437674
Option 11D : 6306801708493
Option 2 ID : 6306801708492
Option 3 1D : 6306801708491
Option 4 ID : 6306801708490
Status : Answered
Chosen Option : C

Q11 &z w=w F Toic 2022 &, 2021-22 & 2022-23 7% WA QR ¥ @0 fFaw gfaed s geEr aar
Ee

Ans v A e 20 wigerE
X B gETereT 30 gfgera
X ¢ Femeqer 10 wioera
X 0. FETeqeT 25 gioera

Question ID : 630680437675
Option 11D : 6306801708495
Option 2 ID : 6306801708497
Option 3 ID : 6306801708494
Option 4 ID : 6306801708496
Status : Answered
Chosen Option: C
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Q.12 fu ov fawedt & @ 30 gEw w1 www Sl o B g § wafed (?) @ gfaeafa &=
T Fl

45, 110, 185, 270, ?

Ans X A 347
X 8. 356
Xc 378
¥ D 365

Question ID : 630680437690
Option 1 ID : 6306801708557
Option 2 ID : 6306801708555
Option 3 1D : 6306801708556
Option 4 ID : 6306801708554
Status : Answered
Chosen Option : C

QA3 9w yaw-wHp T BE v §, B @ de feeh o @ v #R € AR ow s ¥ 5E e @
o= AT

Ans X A FH-JL
< B WY-AC
v C |K-MP
X 0. NP-RT

Question ID : 630680437689
Option 1 ID : 6306801708551
Option 2 ID : 6306801708550
Option 3 ID : 6306801708552
Option 4 ID : 6306801708553
Status : Answered
Chosen Option : C

Q14 120 Fe€ F7 2022 F INEEAT H 97T & 90T & [TE fFaa o 54T A7
Ans X A 170

X B 185

¥ C 168

XD 161

Question ID : 630680437678
Option 1 ID : 6306801708506

Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

6306801708508
6306801708507
6306801708509
Answered

(o]
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g & wafa B

DAMAGE : EGAMAD :: GENTLE : ?

Q15 =7 BT & T FT A N FET-THE T 3 TR TERS § W TR g@U HER-TEg Tge 3T

Ans A ELTNEG
< B. ELTENG
X C. ETLNEG
X D. ELTNGE
Question ID : 630680437687
Option 11D : 6306801708543
Option 2 ID : 6306801708544
Option 3 ID : 6306801708545
Option 4 ID : 6306801708542
Status : Answered
Chosen Option : D
Q16 Srofafee § & Fa-6T 3eie uffE TaET F AR & FERg 3
Ans
XA 3*?"_&’?«'.;. 23
X . 3eg=tq 30
X c. HT=0q 22
v 0. TG 25
Question ID : 630680437680
Option 11D : 6306801708517
Option 2 ID : 6306801708516
Option 3 ID : 6306801708515
Option 4 ID : 6306801708514
Status : Answered
Chosen Option : D
Q.17 : + - :
ey o7 FRE A o o gv @ mefoa 2
Ans x A. é T
V5 gEfied
Xc ger efam
X D. grehr
Question ID : 630680437679
Option 11D : 6306801708513
Option 2 1D : 6306801708512
Option 3 ID : 6306801708511
Option 4 ID : 6306801708510
Status : Answered
Chosen Option : B
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Q.18 fw v et # & 37 -G & T0A F=T = Trafatad guen # woa-fe (?) & afwnfia
= W

ADA, DFX, GHU, JJR, ?

Ans A MLO
X B MLP
X ¢ NLO
X b. MOL

Question ID : 630680437682
Option 11D : 6306801708523
Option 2 ID : 6306801708524
Option 3 ID : 6306801708525
Option 4 ID : 6306801708522
Status : Answered
Chosen Option : A

Q19 s TFR ZIRT el FR F FE I 9 H{§OT ¥ FEATAT RRAT T 912
Ans X A 1994

X B. 1993

v C. 1992

X D. 1995

Question ID : 630680437672
Option 1 1D : 6306801708484
Option 2 1D : 6306801708483
Option 3 1D : 6306801708482
Option 4 1D : 6306801708485
Status : Not Answered
Chosen Option : --

Q20 s FEe 0T FOUTaEe & eteiad # ¥ 5 sew & v TR TEHR 2022 Sar?
Ans X A

AT HF T ur3sis AT (Island of a Thousand Mirrors)
x B g e 37 g F9TeT (The Village in the Jungle)

x c. I =7 T HfAST (Running in the Family)

« D.
g Wal AeH HE ATell HeAsT (The Seven Moons of Maali Almeida)

Question ID : 630680437673
Option 11D : 6306801708488
Option 2 ID : 6306801708489

Option 31D :
Option 4 ID :
Status :

Chosen Option :

6306801708486
6306801708487
Answered

B
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Y fre # ¥ B T A R e 1 3R v @ g 2
At XA faER F AaTRE 3= T B
X5 FE Fgeel Fr Afer aeat & R g @ 7 #)
X c. TR SEeit B AT wga & aEE B
v 0. @gTar e ¥ H =T TS

Question ID : 630680437699
Option 11D : 6306801708592
Option 2 ID : 6306801708590
Option 3 1D : 6306801708591
Option 4 ID : 6306801708593
Status : Answered
Chosen Option : A

a2 fra # & o5 o # Fnw Rea #7192 T2 g 32
Ans XA HTE A T F RER W aHT §ga oa feam
X 5. FA H T F ¥ F FHT g o= femm)
X c. HIET SR TN 7 foers & @H Fga ue feam
v 0 AE A TR HEs & §HT §gd U e
Question ID : 630680437697
Option 11D : 6306801708583
Option 2 ID : 6306801708582
Option 3 ID : 6306801708585
Option 4 ID : 6306801708584
Status : Answered
Chosen Option : D
W T # @ S T TGRS Fe &7 TR ¥ 3R a9 32
Ans

X A 3% HTHS Saar aferar & @ SIS @ W 2
V5 ¥ 3% HAA ST AT & A FTEm &7 & S
X C 3% WHAA AT TMOIT arer ar FeTST & ATeem|
X 0. 3% WHA A= IMTordr & A STET @ TET B

Question ID : 630680437694

Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

6306801708571
6306801708573
6306801708570
6306801708572
Answered

A
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Q4 Pom F O Fla-ar I acFIfes I3\ FT o TR I 30T g 7
Ans * 3

XA gFE TE 0 g1 AT T TR 91 # g% g

x5 g T o g 7 F rmd 91w we @
X o gFE T o g 7 o Trme A e
w0 TFE TE o @ 7 & Ed a9 W w arn

Question ID : 630680437696
Option 11D : 6306801708580
Option 2 ID : 6306801708578
Option 3 ID : 6306801708581
Option 4 ID : 6306801708579
Status : Answered
Chosen Option : D

VP T F ¥ Faw T wqUeE Fe H TR ¥ 3RE A B2

Ans

¢ A 30 WAT dIHAgS &1 AU =er & |
X B. 3F THAT JFAEH F RAU-HT T g
X c. 3H WAT arSAge @ [@HAUT-EE g e o7

X 0. 3H WHT ASAe 1 [HAT-FE g T

Question ID : 630680437695
Option 11D : 6306801708574
Option 2 ID : 6306801708577
Option 3 1D : 6306801708575
Option 4 ID : 6306801708576
Status : Answered
Chosen Option : A

@ g faemmw $ R F o TFw F TEa AT

" o AR s e R
el e s s o
e R e
S s SR

Question ID : 630680437693
Option 11D : 6306801708568
Option 2 ID : 6306801708569
Option 3 ID : 6306801708567
Option 4 ID : 6306801708566
Status : Answered
Chosen Option : A
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Q.7 frga A F faam ot gfd #1-

o 8P B 1 ST o) 39 G &1 frerd A uaa gl ean 21
Ans A STBTER

7B HOITT
X c ek
X 0. F&T
Question ID : 630680437701
Option 1 ID : 6306801708600
Option 2 ID : 6306801708601
Option 3 ID : 6306801708599
Option 4 ID : 6306801708598
Status : Answered
Chosen Option : A
Q.8
T eare & TR ¥ E 99T F I HiSe-
Ans 1 :
X~ 23T foRaT 38 9EE F AFFAHS $T A W
X e 3 gETE A 39 fRaT o R W HGATEA|
; g .
X . HATHA 79T I X &3 fomam 38 9= |
v 0. STE F HFAHS 7T FA W 3 2T
Question ID : 630680437692
Option 1 ID : 6306801708564
Option 2 ID : 6306801708565
Option 3 ID : 6306801708563
Option 4 ID : 6306801708562
Status : Answered
Chosen Option : D
Q.9
‘HTIT 9T ITAT STlAT HeraY &7 9T 8-
Ane XA sEeie e
« B rETeT THEET
X c HIF EIJ'&'-'-I‘IFIT
X 0. 8@ AT
Question ID : 630680437700
Option 1 ID : 6306801708596
Option 2 ID : 6306801708597
Option 3 ID : 6306801708594
Option 4 ID : 6306801708595
Status : Answered
Chosen Option : B
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O e TR e @ T T A o SY-

Cird 1
XA F 1T 7T
Xe #F 75 gl

XC J AGT ST THI
VD 38 HE|

Ans

Question ID : 630680437698
Option 11D : 6306801708587
Option 2 ID : 6306801708589
Option 3 ID : 6306801708588
Option 4 ID : 6306801708586
Status : Answered
Chosen Option : A

Comprehension:
faT T TRITR & SMTYR R U9 IR G|

faRmamR 7o fagH ok THTS YURE 3| Tl 98 Wphd & 9gd 99 fAgH 3 aui I faumT
F RA T I B S o YakH U1 39% oY Go gU A1 d YR 3R U TRpid &
& UG WM BT UIAFTRT I ¥ I BRI T ¥ ARTYH ¢ a1 Riifes a8 srgfad
IR T TaII el IR b | 51 Upd diciol &b ararel TR-Srvr fagnfiat & fog @rar
fU i 95 TXpd & 31T WR SIEIV Sl & dpTait ThTUBR b farieh 3| fIemamR &1
I SARN YR Bt UG Gferd TRY S & T I3 & 3% INTeH & BRI 31 ot a1g dvd
B =17 fyerar gAfdare % forg i Fud =reman| gAR 21 @) I wiiferdl § ugen B g
faear gAfdaTg Siasid § 7 fGHeR 1856 B AR 31 IR0 F SR 3T 8 v H gan
faear gAfdaTg o deTerd B & HRUT FIIRITR &1 gimmdR fEgsit ot Sg =IdT &1 =1 Bl
TSTI 3% 9 I H SRRade gri ot e gergar +ft wnfere o1 faamamR = 1850 & arar-
faare &1 faRly faam| 321 SliaeR sgfaarg & fave sicier garr| ag ) Rren & +ff et
feaaedt Tad 3| Wpal & WHR e o1 gRrrd T 37 35 S fagrerl &t wTeHT 3t
YA G & A B o RAd I I8 I AR FRI&M & ovigal § U A | Y Tpdl B RIGT 1849 H
FHAb A g | ASiohal B Y e <3 o1 f3xm & Iay ugd 1821 T SU18 4H YaRS! A
HEH I3 | TR 4TS YT R IR IR SH & SR 30 YA 6 g ol I | 3% Al
o1 |1 AT o5 urTe i o areft asfoar Srua ufcrdl &1 oo Jard &1 il

SubQuestion No : 11
Q1 WWMHW%#@HHMﬂ F 9y FRoT o7 fF --

A XA T F aRAT o Wy @ gT @ S
X B. SHH 3T TR FHel ¥ g ST
XC FHE & IRAT ARl T HHAT FT o
v 0. & 3 I3 F TAH FAT

Question ID : 630680437706
Option 11D : 6306801708614
Option 2 1D : 6306801708616
Option 31D : 6306801708615
Option 4 1D : 6306801708617
Status : Answered
Chosen Option : D
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Comprehension:
foT 7T TR & STYR TR Uy S<R S|

faRmamR o™ fagH SR THTS GUR® 3| Tl 98 Wpd & 9gd g9 fAgH 3 i 3 feum
F A TTYT oI B S o Gakw U1 IU% oY Gol gU A1 9 YR 3R U TRpfa &
s @G WM BT YIAFTT Id U1 I BRI YT ¥ ARTYH ¢ a1 Riifes a8 rgfad
BRI THIET T el IR Job | 614 WP hiciol &b aamsl TIR-STEvT faenfiat & forg @t
U ifer a8 AP & ST TR ST Sl & dchTot UDHNUBR & faRiel 31 R &
I SARH YR Bt UG Gferd ARY S &1 T I3 & 3% TG & HRUT 31 ot a1g Fxad
B1 38 favar gAfdarg & for dar T gamn AR 3= 3t I wfad & ugar HE feg
faear gAfdaTg Siaeid § 7 fGHeR 1856 B AR 31 IROT § SR 30T & v § gar|
faeaT gAfdaTg B deTerd B & HRUT IR &1 UimaR fEgsit &t Sg =IdT &1 I Bl
TSTI 3% 39 BT H SRRade g ot e gergar ot wnfeya o1 fammamR = 1850 & arar-
faare &1 faRty faam| 351 SiiaeR sgfaarg & fave sicie garar| ag = Rren & +ft gt
faeraed Td 91 Wpdl & WeR FRlee &1 3Rad ¥ I 35 F1ferT el St R 311
YA G & WA B o RAd § I8 I AR FRI& P Svigal § U A | Y Kool B RIGT 1849 H
FHadmdl B gs | asfbal dF SMyfw e 37 o 3w o Tad ugd 1821 W SUTE o YARa! A
HEH I | 7R SIS UTiHeb 147 TR W < & DRI b TITH Ybel o1 61 b | 3feb Tl
o1 |1 U1 o a1y R u areft asfobar srua ufcrdl &1 oo T &1 it

SubQuestion No : 12

Q.12 :
TETA V FAT w7 Fewerar?

Ans A
TTHd ¥ g 89 & FROT 98 T T WEET U 0T saTer & S )
X B.
FAT T FEAAT N FET T H AlRd T SEAH T 3o HCATHAT F Tl o
x C.
fae@rarr o s 3 mearew TRl & wanT @1 wfafaftes & O
X D.
& 9 37 gew H v g @ wEel o ok sl Al sae & Riw see w R

Question ID : 630680437707
Option 11D : 6306801708621
Option 2 ID : 6306801708619
Option 31D : 6306801708618
Option 4 ID : 6306801708620
Status : Answered
Chosen Option : D
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Comprehension:
3T T TR & SHTYR TR Uy IR aiforg|

faRmaTR o™ fagH SR THTS GUR 3| FIfl 98 Wphd & 9gd 9o AgH I i I feum
F A TYT oI B S o Gakw U1 IU% Tt ol gU A1 d YR 3R U TRpfa &
& @G WM BT YIAFTT I U1 51 IRBRI T Y ARTYA ¢ a1 Riifds a8 rgfad
IRPBRI THIET T Tel IR Job | I614 WP hiciol b aaml TIR-STEVT faenfiat & fog @it
U 1T a8 AP & ST UR ST Sl & dchTot UDNUBR & faRiel 31 R &
I SARH YR Bt UG Gferd ARY S &1 T I3 & 3% TG & BRI S ot a1g Fvd
81351 faeyar gAfdaTe & fore dar Tos 9ol §AR o%1 ST I Sfodl § Ugdl S g
faeaT gAfdaTg SiaeTd § 7 fGHeR 1856 B AR 31 IROT § SR 30T & v H ganl
faeaT gAfdaTg B geTerd B & HRUT IR &1 gimdR fEgsit ot Sg =1gdm &1 I Bl
TSTI 3% 39 HTH H SRRade g ot e wergar ot wnfeya | faamamR = 1850 & arar-
faaTg &1 foRy fran| 31 SitaR agfaars & 9 sticia garar| ag At fRen & of med
feaadt Tad 3| @dl & WHR e o1 gRrad I 37 35 ST faemerl &t wTeHT i
YA G & WA B o RAd § I8 I AR FRI&N P STgal § U A1 Y Kool B RIGT 1849 H
FHaddl B gs | asfbal dF Sy e 37 o 3w ¥ Tad ugd 1821 W SUTE o YAReT A
HEH IBT | 7R SIS UTiHeb 187 R WR < & DRI b TITH Gbel o1 61 b | 3feb Tl
o1 |1 U1 o uryTe R o areft i srum ufcrdl &1 oo T &1 it

SubQuestion No : 13
ans wmﬁﬁqﬁwgﬁmﬁmﬁw

Ans X A 1850
x5 1849
¥ © 1856
X 0. 1821

Question ID : 630680437703
Option 11D : 6306801708603
Option 2 ID : 6306801708604
Option 3 ID : 6306801708602
Option 4 ID : 6306801708605
Status : Answered
Chosen Option: C
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Ans

Comprehension:
foT 71T TR O STYR TR Uy S<R S|

faRmamR 7o fagH oIk THTS GUR ¥ FIfl 98 Wphd & §gd 99 AgH o i I feam
F A TTT oI B S o gakod U1 IU% foTT ol gU A1 9 YR 3R U TRpfd &
T @G WM BT YTAFTT Id U1 I BRI T Y ARTYH ¢ a1 Riifes a8 rgfad
IWRPBR! TXIET T Te] IR Job | 61 TP biciol b aramsl TR-STEvT faenfiar & fomg @rer
U 1T a8 AP & AT TR ST Sl & dchIot UDHNUBR & faRiel 31 R &
I SARN YR Bt UG Gherd ARY S &1 ST 33 & 3% INTeH & BRI S ot a1g Fxd
§1 38 favyar gAfdarg & fom dar o gamn AR <=1 Bt I wfod & g HEE fig
faear gAfdaTg Siaeid § 7 fGHeR 1856 B AR 31 IROT § SR 30T & v § ganl
faeaT gAfdaTg B geTed B & HRUT IR &1 UimmaR fEgsit ot Fg =IgdT 1 =1 Bl
TSTI 3% 39 HTH H sRRade g ot e Tergar ot wnfiya o1 faamamR = 1850 & ar9r-
faare &1 faRty faan| 351 SiiaeR sgfaare & fave sicie garar| ag = Rren & ot et
faerard Td 91 Wpdl & WeR FRlee &1 3Rad ¥ I 35 F1ferT e St R 311
YA G & WA B o RAd U I8 oA AR FRI&N P Svigal § U A1 Y Tpdl B RIGT 1849 H
FHaddl B gs | Asfbal dY My e 37 o} 3w ¥ Tad ugd 1821 W SUTE o YA A
HEH I | 7R SIS UTiHeb 147 R WR < & DRI Sh TIH Ybel o1 61 b | 3feb Tl
o1 |1 U1 o urTe R u aret asfobar srua ufcrdl &1 oo T &1 it

SubQuestion No : 14

M amyfae = e d T A T

A QT
X B HRTFeTH
X c afe
XD FaT
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

630680437704
6306801708606
6306801708609
6306801708608
6306801708607
Answered

A
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Comprehension:
3T T TR & SHTYR TR Uy IR aiforg|

faRmaTR 7o fagH oIk THTS YUR U1 FIfl 98 Wphd & 9gd 99 AgH I I 3 feam
F A TYT oI B S o gakaw U1 IU% o Gol gU A1 9 YR 3R U TRpfa &
s @G SN BT YTAFTT Id U1 I BRI T ¥ ARTYA ¢ a1 Riifes a8 srgfad
BRI TXIET T el IR Job | 614 WP hiciol b eamsl TR-STEvT faenfiat & forg @rer
U 1T a8 AP & ST TR ST Sl & dchTot UDNUBR & faRiel 31 R &
I SARH YR Bt UG Gherd ARY S & ST I3 & 3% INTeH & BRI 31 ot a1g dvad
§1 38 favar gAfdarg & for dar o gamn AR <=1 3t I wfad & ugar HE g
faeaT gAfdaTg SiaeTd § 7 fGHeR 1856 BT AR BT IROT § SR 30T & SR H ganl
faear gAfdaTg B geTed B & HRUT IR &1 gimmaR fEgsit &t Fg =Idm &1 I Bl
TSTI 3% 39 BT H SRRade g ot e gergar ot wnfiya | fammamR = 1850 & arar-
faare &1 faRty faan| 35 SiiaeR sgfaarg & fave sicie garr| ag = Rren & +ft et
feaaedt Tad 3| Gdl & WHR e o1 gRrad T 3T 35 S faenerl &t RITeHT i
YA G & WA B o Ad § I8 oA AR FRI&M P Svgal § U A1 Y Kool B RIGT 1849 H
FHadmdl B gs | Asfbal dF Sy e 37 o 3w ¥ Ted ugd 1821 W SUTE o YARe A
HEH IS | 7R SIS UTiHeb 1871 TR WR < & DRI b TITH Ybel o1 61 b | 3feb Tl
o1 |1 U1 o uryTe R o areft i srua ufcrdl &1 oo T &1 il

SubQuestion No : 15

Q15 Frpa fag@= 87 F 918 o7 39 G & aare ey Riad § o § weew o aE e g
RN s

M KA g A B e A g A TS 9
%BW#F&HHWqTﬂmﬂ A H HoT AT T
;%amﬁmﬁmﬁﬁmﬂﬁmﬁﬂﬁm
;Dﬁamuﬁmrﬁﬁﬁfﬁraﬂﬁmﬂﬁmﬁﬁl

Question ID : 630680437705
Option 1 ID : 6306801708612
Option 2 ID : 6306801708613
Option 3 ID : 6306801708610
Option 4 ID : 6306801708611
Status : Answered
Chosen Option: C

Q.1 The following sentence has been divided into parts. One of them may contain an error. Select the part that contains the

error from the given options. If you don’t find any error, mark ‘No error’ as your answer.

Who do you think / win the match / to be held next Sunday?
Ans X A. No error
+ B. win the match
X C. to be held next Sunday

X D. Who do vou think

Question ID : 630680437711
Option 1 1D : 6306801708637
Option 2 ID : 6306801708635
Option 3 ID : 6306801708636
Option 4 ID : 6306801708634
Status : Answered
Chosen Option: C
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correct order forming a meaningful and coherent sentence.

A. of its electricity coming from
B. coal-based power plants

C. China, like India, also has

D. a large proportion

Ans X A.DACB

Q.2 Given below are four jumbled parts of a sentence. Select the option that gives their

Chosen Option :

/< B.ADBC
/5 C.CDAB
«" D. CBDA
Question ID : 630680437717
Option 1 ID : 6306801708661
Option 2 ID : 6306801708658
Option 3 ID : 6306801708660
Option 4 ID : 6306801708659
Status : Answered
Chosen Option : A
Q3 Select the most appropriate option to fill in the blank.
The parrots enjoyed at my guavas.
Ans X A nibble
X B. nibbled
X C. to nibble
« D. nibbling
Question ID : 630680437709
Option 1 ID : 6306801708626
Option 2 ID : 6306801708627
Option 3 ID : 6306801708629
Option 4 ID : 6306801708628
Status : Answered
Chosen Option : B
Q.4  Select the option that can substitute the underlined word in the given proverb correctly. If no substitution is required,
select ‘No substitution required’.
Necessity is the mother of science.
Ans XA No substitution required
X B. working hard
X C. discovery
+ D. invention
Question ID : 630680437714
Option 1 ID : 6306801708649
Option 2 ID : 6306801708648
Option 3 ID : 6306801708647
Option 4 ID : 6306801708646
Status : Not Answered
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Q5 gSelect the sentence with the grammatically correct verb form.

Chosen Option :

Ans X A She keep her umbrella in the corner.
« B. She kept her umbrella in the corner.
X C. She was kept her umbrella in the corner.
X D. She had keep her umbrella in the corner.
Question ID : 630680437712
Option 11D : 6306801708638
Option 2 ID : 6306801708639
Option 3 ID : 6306801708641
Option 4 ID : 6306801708640
Status : Answered
Chosen Option : B
Q6 Select the most appropriate option to fill in the blank.
Burning of plastic is dangerous the environment.
Ans XA of
X B. in
X C. with
+ D for
Question ID : 630680437708
Option 11D : 6306801708622
Option 2 ID : 6306801708625
Option 3 ID : 6306801708623
Option 4 ID : 6306801708624
Status : Answered
Chosen Option : B
Q.7 Select the option that can substitute the underlined word in the given idiom correctly. If no substitution is required,
select ‘No substitution required’.
Sell like ripe apples
Ans o A hot cakes
X B. No substitution required
X C. red tomatoes
X D. fresh potatoes
Question ID : 630680437715
Option 1 1D : 6306801708652
Option 2 ID : 6306801708653
Option 3 ID : 6306801708650
Option 4 ID : 6306801708651
Status : Not Answered
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We making / shahi paneer kofta only after / getting an order.
Ans X A. No error

+ B. We making
X C. shahi paneer kofta only after

X D. getting an order

Q.8 The following sentence has been divided into parts. One of them may contain an error. Select the part that contains the
error from the given options. If you don’t find any error, mark ‘No error” as your answer.

Question ID : 630680437710
Option 1 ID : 6306801708633
Option 2 ID : 6306801708630
Option 3 ID : 6306801708631
Option 4 ID : 6306801708632
Status : Answered
Chosen Option : B
Q.9 Given below are four jumbled parts of a sentence. Select the option that gives their
correct order forming a meaningful and coherent sentence.
A. It's crucial that children
B. make up for the nourishment
C. as a result of the pandemic
D. they've lost in recent months
Ans X A ADCB
X B. ABCD
« C. ABDC
X D. ACBD
Question ID : 630680437716
Option 1 ID : 6306801708654
Option 2 ID : 6306801708656
Option 3 ID : 6306801708657
Option 4 ID : 6306801708655
Status : Not Answered
Chosen Option : --
Q.10 Select the most appropriate ANTONYM of the word given in brackets to fill in the blank.
The main work of opposition most of the time is to (commend) the government.
Ans o A support
+ B. criticise
X C. praise
K D. approve
Question ID : 630680437713
Option 1 ID : 6306801708645
Option 2 ID : 6306801708643
Option 3 ID : 6306801708642
Option 4 ID : 6306801708644
Status : Answered
Chosen Option : A
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Comprehension:
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Read the given passage and answer the questions that follow.

When we enter New York harbour, the first thing we see is
the Statue of Liberty. What impresses us the most is its size
and magnificence. Have you ever wondered how it came to be
there? The Statue of Liberty was a gift from the people of
France to mark the one-hundred-year anniversary of
American Independence. In 1869, sculptor Frederic Auguste

Bartholdi began to plan his concept for the monument.

Bartholdi chose the look of classic Greek and Roman figures.
He envisioned Liberty as a strong and proud figure, one who
personified not only the majestic Greek Goddesses of the past,
but also the working men and women of the present. Finally,
in 1884, the work was finished, and 350 pieces of Liberty
statue were packed into 214 crates and sent to Bedloe Island

in the USA. The island was later renamed Liberty Island.

Only one problem stood in the way. While the French had
raised a lot of funds to build the statue, New York had not
secured the funds to build its foundation. A New York
newspaper implored people for donations so that money
became available. It is interesting to note that 80% of the
donations were less than a dollar! Finally, on 28% October

1886, Americans celebrated the unveiling of the Statue of
Liberty.

The statue represents Libertas, the Roman goddess of
freedom. It is 93 meters high and weighs 4.50,000 pounds.
Lady Liberty holds a torch and a tablet on which is inscribed
the date of American independence — 4% July, 1776. The
waistline of Lady Liberty measures 35 feet and her shoe size

is 879! Visitors have to climb 354 steps to reach her crown.

The Statue of liberty served as a lighthouse for 16 years. It
was the first to welcome thousands of people who came to

America in search of a better life.
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SubQuestion No : 11

Q11 After reading the passage which question CANNOT be answered?

Ans X A Who made the Statue of Liberty?

X B.
How did New York raise funds to build the pedestal of the statue?

+ C. What material is the statue made of?
X D. When was the Statue of Liberty finally unveiled?

Question ID : 630680437719
Option 11D : 6306801708662
Option 2 ID : 6306801708663
Option 3 ID : 6306801708665
Option 4 ID : 6306801708664
Status : Answered
Chosen Option : C
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Comprehension:
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Read the given passage and answer the questions that follow.

When we enter New York harbour, the first thing we see is
the Statue of Liberty. What impresses us the most is its size
and magnificence. Have you ever wondered how it came to be
there? The Statue of Liberty was a gift from the people of
France to mark the one-hundred-year anniversary of
American Independence. In 1869, sculptor Frederic Auguste

Bartholdi began to plan his concept for the monument.

Bartholdi chose the look of classic Greek and Roman figures.
He envisioned Liberty as a strong and proud figure, one who
personified not only the majestic Greek Goddesses of the past,
but also the working men and women of the present. Finally,
in 1884, the work was finished, and 350 pieces of Liberty
statue were packed into 214 crates and sent to Bedloe Island

in the USA. The island was later renamed Liberty Island.

Only one problem stood in the way. While the French had
raised a lot of funds to build the statue, New York had not
secured the funds to build its foundation. A New York
newspaper implored people for donations so that money
became available. It is interesting to note that 80% of the
donations were less than a dollar! Finally, on 28% October

1886, Americans celebrated the unveiling of the Statue of
Liberty.

The statue represents Libertas, the Roman goddess of
freedom. It is 93 meters high and weighs 4.50,000 pounds.
Lady Liberty holds a torch and a tablet on which is inscribed
the date of American independence — 4% July, 1776. The
waistline of Lady Liberty measures 35 feet and her shoe size

is 879! Visitors have to climb 354 steps to reach her crown.

The Statue of liberty served as a lighthouse for 16 years. It
was the first to welcome thousands of people who came to

America in search of a better life.
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SubQuestion No : 12
Q12 yWhich of the following facts does NOT suggest the hugeness of the statue?
Ans X A.
The visitors have to climb 354 steps to reach the top of the statue.
+ B.
The statue holds a tablet on which is inscribed 4™ July, 1776.
X cC.
The height of the statue is 93 meters and its waistline measures 35 feet.

X D. The statue weighs 4,50,000 pounds.

Question ID : 630680437720
Option 11D : 6306801708666
Option 2 ID : 6306801708667
Option 3 ID : 6306801708668
Option 4 ID : 6306801708669
Status : Answered
Chosen Option : B
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Comprehension:
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Read the given passage and answer the questions that follow.

When we enter New York harbour, the first thing we see is
the Statue of Liberty. What impresses us the most is its size
and magnificence. Have you ever wondered how it came to be
there? The Statue of Liberty was a gift from the people of
France to mark the one-hundred-year anniversary of
American Independence. In 1869, sculptor Frederic Auguste

Bartholdi began to plan his concept for the monument.

Bartholdi chose the look of classic Greek and Roman figures.
He envisioned Liberty as a strong and proud figure, one who
personified not only the majestic Greek Goddesses of the past,
but also the working men and women of the present. Finally,
in 1884, the work was finished, and 350 pieces of Liberty
statue were packed into 214 crates and sent to Bedloe Island

in the USA. The island was later renamed Liberty Island.

Only one problem stood in the way. While the French had
raised a lot of funds to build the statue, New York had not
secured the funds to build its foundation. A New York
newspaper implored people for donations so that money
became available. It is interesting to note that 80% of the
donations were less than a dollar! Finally, on 28% October

1886, Americans celebrated the unveiling of the Statue of
Liberty.

The statue represents Libertas, the Roman goddess of
freedom. It is 93 meters high and weighs 4.50,000 pounds.
Lady Liberty holds a torch and a tablet on which is inscribed
the date of American independence — 4% July, 1776. The
waistline of Lady Liberty measures 35 feet and her shoe size

is 879! Visitors have to climb 354 steps to reach her crown.

The Statue of liberty served as a lighthouse for 16 years. It
was the first to welcome thousands of people who came to

America in search of a better life.
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SubQuestion No : 13
Q13 Which of the following is the most apt title for the passage?
Ans X A The Goddess of Freedom

X B. A Gift to Americans

« C. The Statue of Liberty

X D. A French Gift

Question ID : 630680437723
Option 11D : 6306801708681
Option 2 ID : 6306801708679
Option 3 ID : 6306801708680
Option 4 ID : 6306801708678
Status : Answered
Chosen Option: C
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Comprehension:
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Read the given passage and answer the questions that follow.

When we enter New York harbour, the first thing we see is
the Statue of Liberty. What impresses us the most is its size
and magnificence. Have you ever wondered how it came to be
there? The Statue of Liberty was a gift from the people of
France to mark the one-hundred-year anniversary of
American Independence. In 1869, sculptor Frederic Auguste

Bartholdi began to plan his concept for the monument.

Bartholdi chose the look of classic Greek and Roman figures.
He envisioned Liberty as a strong and proud figure, one who
personified not only the majestic Greek Goddesses of the past,
but also the working men and women of the present. Finally,
in 1884, the work was finished, and 350 pieces of Liberty
statue were packed into 214 crates and sent to Bedloe Island

in the USA. The island was later renamed Liberty Island.

Only one problem stood in the way. While the French had
raised a lot of funds to build the statue, New York had not
secured the funds to build its foundation. A New York
newspaper implored people for donations so that money
became available. It is interesting to note that 80% of the
donations were less than a dollar! Finally, on 28% October

1886, Americans celebrated the unveiling of the Statue of
Liberty.

The statue represents Libertas, the Roman goddess of
freedom. It is 93 meters high and weighs 4.50,000 pounds.
Lady Liberty holds a torch and a tablet on which is inscribed
the date of American independence — 4% July, 1776. The
waistline of Lady Liberty measures 35 feet and her shoe size

is 879! Visitors have to climb 354 steps to reach her crown.

The Statue of liberty served as a lighthouse for 16 years. It
was the first to welcome thousands of people who came to

America in search of a better life.
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SubQuestion No : 14

Q.14 Which statements are true according to the passage?
a. The Statue of Liberty was a gift from the French to the Americans.

b. The statue represents not only the majestic Greek Goddesses of the past, but also the working men and women of the
present.

¢. Americans gave large donations to build the statue.
d. Libertas was the Greek goddess of freedom.

e. For several years, the Statue of Liberty was used by sailors as a lighthouse.

Ans X A a,band c are correct
" B. a, b and e are correct
/< C.c,dand e are correct

/< D.b, cand e are correct

Question ID : 630680437721
Option 11D : 6306801708670
Option 2 ID : 6306801708673
Option 3 ID : 6306801708672
Option 4 ID : 6306801708671
Status : Answered
Chosen Option : A
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Comprehension:
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Read the given passage and answer the questions that follow.

When we enter New York harbour, the first thing we see is
the Statue of Liberty. What impresses us the most is its size
and magnificence. Have you ever wondered how it came to be
there? The Statue of Liberty was a gift from the people of
France to mark the one-hundred-year anniversary of
American Independence. In 1869, sculptor Frederic Auguste

Bartholdi began to plan his concept for the monument.

Bartholdi chose the look of classic Greek and Roman figures.
He envisioned Liberty as a strong and proud figure, one who
personified not only the majestic Greek Goddesses of the past,
but also the working men and women of the present. Finally,
in 1884, the work was finished, and 350 pieces of Liberty
statue were packed into 214 crates and sent to Bedloe Island

in the USA. The island was later renamed Liberty Island.

Only one problem stood in the way. While the French had
raised a lot of funds to build the statue, New York had not
secured the funds to build its foundation. A New York
newspaper implored people for donations so that money
became available. It is interesting to note that 80% of the
donations were less than a dollar! Finally, on 28% October

1886, Americans celebrated the unveiling of the Statue of
Liberty.

The statue represents Libertas, the Roman goddess of
freedom. It is 93 meters high and weighs 4.50,000 pounds.
Lady Liberty holds a torch and a tablet on which is inscribed
the date of American independence — 4% July, 1776. The
waistline of Lady Liberty measures 35 feet and her shoe size

is 879! Visitors have to climb 354 steps to reach her crown.

The Statue of liberty served as a lighthouse for 16 years. It
was the first to welcome thousands of people who came to

America in search of a better life.
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SubQuestion No : 15

Q.15 What is the most appropriate synonym of the word ‘envision’ as used in the passage?

Ans o A Visualise
X B. Anticipate
X C. Predict
X D. Grasp

Question ID : 630680437722
Option 1 ID : 6306801708674
Option 2 ID : 6306801708676
Option 3 ID : 6306801708675
Option 4 ID : 6306801708677
Status : Not Answered
Chosen Option : --

Section : Domain Knowledge

QA1

Identify the type of magnet, shown in the given figure, based on its shape..
Ans X A Ring magnet
X B. Horse-shoe magnet
X C. Bar magnet

« D. Needle magnet

Question ID : 630680437748
Option 1 ID : 6306801708781
Option 2 ID : 6306801708779
Option 3 ID : 6306801708778
Option 4 ID : 6306801708780
Status : Answered
Chosen Option : D

Q.2 If an armature of a DC machine has a resistance of 0.9 Q. then its resistance value comes under which of the following
categories?

Ans X A Very high resistance

& B. Medium resistance
X C. High resistance

« D. Low resistance

Question ID : 630680437819
Option 1 ID : 6306801709065
Option 2 ID : 6306801709063
Option 3 ID : 6306801709064
Option 4 ID : 6306801709062
Status : Answered
Chosen Option : D
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@3 | micro ampere = milli ampere.
Ans 1
& A
1000
X B. 100
xo L+
100

X D. 1000

Question ID : 630680437817
Option 1 ID : 6306801709057
Option 2 ID : 6306801709055
Option 3 ID : 6306801709056
Option 4 ID : 6306801709054
Status : Answered
Chosen Option : A

Q.4 Which of the following transformers has very few number of turns in the primary winding?

Ans o A. Current transformer
X B. Step up transformer
X C. Potential transformer
X D. Isolation transformer
Question ID : 630680437846
Option 1 ID : 6306801709173
Option 2 ID : 6306801709170
Option 3 ID : 6306801709172
Option 4 ID : 6306801709171
Status : Answered
Chosen Option : A
Q.5
If the circuit shown in the given figure is assumed to be a Germanium diode, then Vg = 5
Ans XA 05V
B 03V
Xc 07V
XD 0.1V

Question ID : 630680437856
Option 1 ID : 6306801709211
Option 2 ID : 6306801709210
Option 3 ID : 6306801709212
Option 4 ID : 6306801709213
Status : Answered
Chosen Option : B
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Q6  Which of the following metals belong to the same group in the periodic table?
Ans X A. Silver and Iron

X B. Copper and Iron
« C. Copper and Silver
X D. Iron and Gold

Question ID : 630680437737
Option 1 ID : 6306801708735
Option 2 ID : 6306801708736
Option 3 ID : 6306801708737
Option 4 ID : 6306801708734
Status : Answered
Chosen Option : B

Q.7 Which of the following laws explains the way to calculate the amount of induced EMF in a coil?

Ans X A Faraday’s first law of Electromagnetic induction
X B. Lenz's law
X C. Ampere’s law
+ D. Faraday’s second law of Electromagnetic induction
Question ID : 630680437751
Option 1 1D : 6306801708790
Option 2 ID : 6306801708792
Option 3 ID : 6306801708793
Option 4 ID : 6306801708791
Status : Answered
Chosen Option : D
Q.8
B B —m—
‘-"':
CEED
= el
Which of the following is the reason for magnetic field ‘B’ in the given figure?
Ans

X A. Zero current through the conductor in upward direction.
X B. Zero current through the conductor in downward direction.
+ C. A current through the conductor in upward direction.

X D. A current through the conductor in downward direction.

Question ID : 630680437828
Option 1 ID : 6306801709100
Option 2 ID : 6306801709101
Option 3 ID : 6306801709098
Option 4 ID : 6306801709099
Status : Answered
Chosen Option: C
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Q9 Os

Ne T
If one of the terminals of the device shown in the given figure is gate. then what are the other two?

Ans X A Anode and Cathode
X B. Drain and Anode
+ C. Drain and Source
X D. Emitter and Base

Question ID : 630680437862
Option 1 ID : 6306801709235
Option 2 ID : 6306801709237
Option 3 ID : 6306801709236
Option 4 ID : 6306801709234
Status : Answered
Chosen Option: C

Q.10 A single-phase induction motor is coupled to a pump. The combined efficiency of the motor-pump set is 60% and the
pump efficiency is 80%. What is the efficiency of the motor?

Ans X A 202

& B. T75%

X C. 60%

X D. 85%
Question ID : 630680437812
Option 1 1D : 6306801709035
Option 2 ID : 6306801709036
Option 3 ID : 6306801709034
Option 4 ID : 6306801709037

Status : Answered
Chosen Option : B
Q1 Nfetal parts joined by soldering form bonds between them.

Ans o A electrical and mechanical
X B. electrical and magnetic

X C. electrical, magnetic and mechanical

X D. mechanical and magnetic

Question ID : 630680437733
Option 1 ID : 6306801708719
Option 2 ID : 6306801708718
Option 3 ID : 6306801708721
Option 4 ID : 6306801708720
Status : Answered
Chosen Option : A
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Q12 Fij|| the blank based on the fire classification:

ABCH, .
Ans A K

XB M

XC N

XD L

Question ID : 630680437726

Option 11D : 6306801708690
Option 2 ID : 6306801708692
Option 3 ID : 6306801708693
Option 4 ID : 6306801708691

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.13 If the number of protons in Copper is equal to 29, then what will be its (atomic number — number of electrons)?
Ans X A 20

X B. 28

«C 0

X D. 30

Question ID : 630680437731
Option 1 ID : 6306801708710
Option 2 ID : 6306801708713
Option 3 ID : 6306801708712
Option 4 ID : 6306801708711
Status : Answered
Chosen Option: C

Q14 Which of the following is a filament lamp?
Ans A Incandescent lamp
X B. Fluorescent lamp
X C. Neon lamp

X D. Arc lamp

Question ID : 630680437801
Option 1 ID : 6306801708990
Option 2 ID : 6306801708991
Option 3 ID : 6306801708992
Option 4 ID : 6306801708993
Status : Answered
Chosen Option : A
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Q.15 Which of the following instruments can measure AC current through a circuit, without being physically connected to the
circuit?

Ans

Question ID : 630680437797
Option 1 ID : 6306801708975
Option 2 ID : 6306801708976
Option 3 ID : 6306801708977
Option 4 ID : 6306801708974
Status : Answered
Chosen Option : C
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The component shown in the given figure represents which of the following wirings?

Ans

X A. Casing-capping wiring
X B. Conduit wiring
X C. Lead sheathed wiring

« D. Cleat wiring

Question ID : 630680437775
Option 11D : 6306801708887
Option 2 ID : 6306801708889
Option 3 ID : 6306801708888
Option 4 ID : 6306801708886
Status : Answered
Chosen Option : A

Which of the following is the reason for the scale of the meter, shown in the given figure, being uniform?

Ans

X A Deflecting torque =0

+ B. Deflecting torque o< current through the moving coil (I)

1

current through the moving coil([)

* Deflecting torque oc
X D.
Deflecting torque o< (current through the moving coil (1))?

Question ID : 630680437798
Option 1 ID : 6306801708980
Option 2 ID : 6306801708978
Option 3 ID : 6306801708981
Option 4 ID : 6306801708979
Status : Answered
Chosen Option : B
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Q.18 Switch
-~

I

—_— &

Battery | Load ® (\D Voltmeter

|

=\t
&)

Ammeter

In the circuit shown in the given figure, identify the controller which can control the circuit.

Ans X A Toad
« B. Switch
X c. Battery

X D. Vpltmeter

Question ID : 630680437830
Option 1 ID : 6306801709108
Option 2 ID : 6306801709107
Option 3 ID : 6306801709106
Option 4 ID : 6306801709109
Status : Answered
Chosen Option : B

Q.19 in 50
;m (O ﬁ)wv

In the circuit shown in the given figure, if the 10 V source is short circuited, find the current through 5 Q?
Ans @A 2A
XB 4A
XC 1A
XD 3A

Question ID : 630680437871
Option 1 ID : 6306801709271
Option 2 ID : 6306801709273
Option 3 ID : 6306801709270
Option 4 ID : 6306801709272
Status : Answered
Chosen Option : A

Q.20 'Which colours have both, code number and tolerance number, in resistance colour coding?
Ans X A. Gold and Silver

X B. Brown and Silver

X C. Brown and Pink

« D. Brown and Red

Question ID : 630680437831
Option 1 ID : 6306801709112
Option 2 ID : 6306801709111
Option 3 ID : 6306801709113
Option 4 ID : 6306801709110
Status : Answered
Chosen Option : D
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Q21 Which of the following rotors is excited with DC supply?
Ans A Three-phase synchronous motor
X B. Single-phase induction motor
X C. Three-phase induction motor
X D. DC generator motor
Question ID : 630680437810
Option 1 ID : 6306801709027
Option 2 ID : 6306801709029
Option 3 ID : 6306801709028
Option 4 ID : 6306801709026
Status : Answered
Chosen Option : A
Q.22

The atomic structure, in the given figure, represents which of the following?
Ans X A Silver

< B. Gold

X C. Carbon

+ D Aluminium

Question ID : 630680437818
Option 11D : 6306801709060
Option 2'ID : 6306801709058
Option 3 ID : 6306801709061
Option 4 ID : 6306801709059
Status : Answered
Chosen Option : D
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wy

ave such that w2 = 1, then the power factor of the load equals

Q.23 Power in a three-phase balanced system is measured with the two-wattmeter method. If the two wattmeter’s readings

Ans X A 0.866
¥ B. 1
Xc 0
X< D. 0.38
Question ID : 630680437799
Option 1 ID : 6306801708984
Option 2 ID : 6306801708983
Option 3 ID : 6306801708982
Option 4 ID : 6306801708985
Status : Answered
Chosen Option : B
Q.24 The alphanumeric notation and colour used to represent the phase wire of a single-phase AC system are and
respectively.
Ans @A L;red
X B. L: orange
X C. N;red
X D. N: orange
Question ID : 630680437776
Option 11D : 6306801708891
Option 2 ID : 6306801708890
Option 3 ID : 6306801708892
Option 4 ID : 6306801708893
Status : Answered
Chosen Option : A
Q25 | watt =
Ans X A 1 volt per second
X B. 1 calorie per second
+ C. 1 joule per second
X D. 1 ampere per second
Question ID : 630680437732
Option 1 ID : 6306801708717
Option 2 ID : 6306801708715
Option 3 ID : 6306801708714
Option 4 ID : 6306801708716
Status : Answered
Chosen Option : C
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Q26 Nfetal conduits can be bent by using which of the following tools?

Ans X A. Pipe vice
X B. Bench vice
X c. Coupler

+ D. Hickey

Question ID : 630680437728
Option 1 ID : 6306801708700
Option 2 ID : 6306801708701
Option 3 ID : 6306801708698
Option 4 ID : 6306801708699
Status : Answered
Chosen Option : D

Q.27 For magnetising which of the following, the MMF required will be more as compared to the others?
Ans @ A Alr gap

X B. Core of transformer
X C. Coll

X D. Stator of single-phase induction motor

Question ID : 630680437754
Option 1 ID : 6306801708802
Option 2 ID : 6306801708804
Option 3 ID : 6306801708803
Option 4 ID : 6306801708805
Status : Answered
Chosen Option : A

Q28 The lamps that are best suited for advertising and decoration are

Ans A neon tubes

X B. incandescent lamps
X C. halogen lamps

X D. fluorescent lamps

Question ID : 630680437872
Option 1 ID : 6306801709277
Option 2 ID : 6306801709274
Option 3 ID : 6306801709276
Option 4 ID : 6306801709275
Status : Answered
Chosen Option : A
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Q29 1 ‘ACSR’ wire, the letter *C” stands for

Ans X A Capacitor
X B. Copper
X C. Cable

« D. Conductor

Question ID : 630680437774
Option 1 ID : 6306801708882
Option 2 ID : 6306801708884
Option 3 ID : 6306801708883
Option 4 ID : 6306801708885
Status : Answered
Chosen Option : D

Q.30 Ifthe charge of a proton is ‘X’ coulomb, then the charge of the electron will be equal to

Ans X A 0.5X coulomb
X B. X coulomb
X C. —0.5X coulomb
+ D. — X coulomb

Question ID : 630680437730
Option 1 ID : 6306801708708
Option 2 ID : 6306801708707
Option 3 ID : 6306801708709
Option 4 ID : 6306801708706
Status : Answered
Chosen Option : D

Q.31 1In resistor colour coding, which of the following colours has the lowest code number?
Ans A Black

X B. Yellow

X C. Violet

A D. White

Question ID : 630680437756
Option 1 ID : 6306801708810
Option 2 ID : 6306801708813
Option 3 ID : 6306801708812
Option 4 ID : 6306801708811
Status : Answered
Chosen Option : A
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Q.32 DC machines are provided with windings, whereas AC machines (except AC commutator machines) are
provided with windings.

Ans X A closed, closed

X B. open, open
« C. closed, open

X D. open, closed

Question ID : 630680437807
Option 1 ID : 6306801709015
Option 2 ID : 6306801709016
Option 3 ID : 6306801709014
Option 4 ID : 6306801709017
Status : Answered
Chosen Option: C

Q.33
ILoad
At any given instance of time, how many number of diodes are forward biased in the given figure?
Ans XA Three
X B. One
« C. Two
#< D. Four

Question ID : 630680437854
Option 1 ID : 6306801709204
Option 2 ID : 6306801709202
Option 3 ID : 6306801709203
Option 4 ID : 6306801709205
Status : Answered
Chosen Option : C
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Q.34

Coil 1 Coil 2
"--.____-_-_ — - r-___..
1" = )

B

: M““
I, changing 2 B

A Niwer |

LS :
Galvanometer

What is happening in the circuit shown in the given figure?
Ans X A Self-induction in coil 1 due to coil 2.
X B. Self-induction in coil 2 due to coil 1.
+ C. Mutual induction in coil 2 due to coil 1.

& D. Mutual induetion in coil 1 due to coil 2.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680437747
6306801708777
6306801708776
6306801708774
6306801708775
Answered

Cc

Ans

@35 T arger portion of losses in a DC machine is mainly due to

X A copper and mechanical losses

& B. iron and mechanical losses

+ C. iron and copper losses

# D. mechanical and brush losses

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID:
Status :

Chosen Option :

630680437766
6306801708852
6306801708851
6306801708850
6306801708853
Answered

(o]
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Q.36

nv

Y

The wave shown in the given figure represents a/an
Ans X A DC quantity

X B. AC quantity

X C. pulsating AC quantity

« D. pulsating DC quantity

Question ID : 630680437782
Option 11D : 6306801708914
Option 2 ID : 6306801708915
Option 3 ID : 6306801708917
Option 4 ID : 6306801708916
Status : Answered
Chosen Option : D
Q37 Nfethods of earthing are classified based on which of the following?
Ans . A Earth electrode
X B. Earth lead
X C. Type of supply
X D. Earthed object
Question ID : 630680437779
Option 1 1D : 6306801708903
Option 2 ID : 6306801708904
Option 3 ID : 6306801708905
Option 4 ID : 6306801708902
Status : Answered
Chosen Option : A
Q38 The words ‘Right of Way" are related to which of the following?
Ans X A Power system protection
+ B. Transmission of electrical energy
X C. Generation of electrical energy
X D. Power factor improvement
Question ID : 630680437848
Option 11D : 6306801709181
Option 2 ID : 6306801709179
Option 3 ID : 6306801709178
Option 4 ID : 6306801709180
Status : Answered
Chosen Option : B
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Q.39 IfRYB is one phase sequence in a 3-phase, 3-wire system, then the other phase sequence possible is

Ans & A RBY
X B. BRY
X C YBR
X D. RRY
Question ID : 630680437826
Option 1 ID : 6306801709092
Option 2 ID : 6306801709091
Option 3 ID : 6306801709090
Option 4 ID : 6306801709093
Status : Answered
Chosen Option : A
Q.40

Identify the switch shown in the given figure.

Ans X A. Flush switch
+ B. Double throw knife switch
X C. Tumbler switch
X D. Iron clad switch

Question ID : 630680437773
Option 11D : 6306801708879
Option 2 ID : 6306801708881
Option 31D : 6306801708878
Option 4 ID : 6306801708880
Status : Answered
Chosen Option : D

Q41 A transistor CANNOT be used for which of the following applications?
Ans X A Switching

X B. Amplification

X C. Producing oscillations

« D. Rectification

Question ID : 630680437855
Option 1 ID : 6306801709206
Option 2 ID : 6306801709209
Option 3 ID : 6306801709208
Option 4 ID : 6306801709207
Status : Answered
Chosen Option : D
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Q.42

Lh
- ¥ =t

Series

Field

Shunt
Field

<
| LOAD |

In the circuit shown in the given figure, if R,. = 0, then the machine is a

Ans X A DC series generator
+ B. DC shunt generator
X C. DC series motor
X D. DC shunt motor
Question ID : 630680437764
Option 1 ID : 6306801708844
Option 2 ID : 6306801708842
Option 3 ID : 6306801708845
Option 4 ID : 6306801708843
Status : Answered
Chosen Option : B
Q.43 1
capacitive susceptace -
Ans

X A. Capacitive resistance
X B. Quality factor

& C. Power factor

+ D. Capacitive reactance

Question ID : 630680437784
Option 1 ID : 6306801708924
Option 2 ID : 6306801708922
Option 3 ID : 6306801708923
Option 4 ID : 6306801708925
Status : Answered
Chosen Option : D
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Q44 1 electrolysis, ECE stands for
Ans X A Entire Chemical Equivalent
« B. Electro-Chemical Equivalent
X c. Electronic Chemical Equivalent
X D. Engineering Chemical Equivalent
Question ID : 630680437741
Option 1 ID : 6306801708753
Option 2 ID : 6306801708750
Option 3 ID : 6306801708752
Option 4 ID : 6306801708751
Status : Answered
Chosen Option : B
Q.45 ; I
: i
Field<
DC -
wupply 3
Armature
-
Identify the DC machine shown in the given figure.
Ans X A Separately excited DC motor
+ B. Separately excited DC generator
X C. DC shunt motor
X D. DC shunt generator
Question ID : 630680437763
Option 1 ID : 6306801708839
Option 2 ID : 6306801708838
Option 3 ID : 6306801708841
Option 4 ID : 6306801708840
Status : Answered
Chosen Option : B
Q46 Which of the following is the correct combination?
Ans X A. Capacitance — Henry
X B. Inductance — Farad
X C. Resistance — Henry
« D. Capacitance — Farad
Question ID : 630680437835
Option 1 ID : 6306801709127
Option 2 ID : 6306801709126
Option 3 ID : 6306801709129
Option 4 ID : 6306801709128
Status : Answered
Chosen Option : D
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Q.47 vV 2V v
ot
|

Total EMF of the circuit connection shown in the given figure will be equal to

Ans XA 2V
XB 3V
XcC 4V
D 6V
Question ID : 630680437743
Option 1 ID : 6306801708758
Option 2 ID : 6306801708760
Option 3 ID : 6306801708761
Option 4 ID : 6306801708759
Status : Answered
Chosen Option : D
Q.48

Which of the following conversions happen(s) in UPS?
Ans X A Only AC to DC

X B. DC to DC

X C. Only DC to AC

+ D. Both AC to DC and DC to AC

Question ID : 630680437866
Option 1 ID : 6306801709252
Option 2 ID : 6306801709250
Option 3 ID : 6306801709251
Option 4 ID : 6306801709253
Status : Answered
Chosen Option : C

Q.49 Zinc chloride is not suitable as a soldering flux for which of the following metals?
Ans X A Brass

X B. Copper

X C. Gun metal

« D Aluminium

Question ID : 630680437734

Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

6306801708725
6306801708722
6306801708724
6306801708723
Answered

D
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Q.50 Which of the following is NOT an arc quenching medium in a circuit breaker?
Ans X A Vacuum

X B 0il

X C Air

+ D. Mica

Question ID : 630680437845
Option 1 ID : 6306801709167
Option 2 ID : 6306801709168
Option 3 ID : 6306801709166
Option 4 ID : 6306801709169
Status : Answered
Chosen Option : D

Q51 How many types of rotors are used for alternators?

Ans X A Three
X B. Four
« C. Two
X D. One

Question ID : 630680437791
Option 1 ID : 6306801708952
Option 2 ID : 6306801708953
Option 3 ID : 6306801708951
Option 4 ID : 6306801708950
Status : Answered
Chosen Option: C

Q.52 Ifthe load of the light and fan circuit for a given house is equal to 6000 W, then the number of sub-circuits required for
this house will be

Ans X A fDIIl'
< B. ten
X< C. six

« D. eight

Question ID : 630680437777
Option 1 ID : 6306801708897
Option 2 ID : 6306801708896
Option 3 ID : 6306801708894
Option 4 ID : 6306801708895
Status : Answered
Chosen Option : D
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Q.53 Ifa big magnet is broken into five smaller magnets, then the number of pole(s) in each of the smaller magnet will be
equal to

Ans X A oQne
X B. ten
X C. five
+ D. two

Question ID : 630680437749
Option 1 ID : 6306801708782
Option 2 ID : 6306801708784
Option 3 ID : 6306801708785
Option 4 ID : 6306801708783
Status : Answered
Chosen Option : D

Q.54 ‘Electric shock’ falls under which of the following categories of electric effect?
Ans X A Heating effect
X B. Magnetic effect

& C. Chemical effect
+ D. Physical effect

Question ID : 630680437778
Option 1 ID : 6306801708900
Option 2 ID : 6306801708898
Option 3 ID : 6306801708899
Option 4 ID : 6306801708901
Status : Answered
Chosen Option : D

Q.55 If the synchronous speed of a three-phase synchronous motor is 1500 rpm, then its rotor speed will be

equal to

Ans % A 1200 rpm
# B. 1400 rpm
X C. 1000 rpm
« D. 1500 rpm

Question ID : 630680437809

Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

6306801709023
6306801709024
6306801709022
6306801709025
Answered

D
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Q.56

Ans

3.Fhoss

The rotor of the given figure represents which of the following machines?

X A. DC shunt motor

X B. Single-phase induction motor
X C. Three-phase induction motor

« D Alternator

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680437792
6306801708957
6306801708956
6306801708955
6306801708954
Answered

D

Ans

X A Refrigerator

X B. Ajr conditioner
« C. Ceiling fan

X D. Geyser

Q.57 A thermostat is NOT used in which of the following domestic appliances?

Question ID :
Option 11D :
Option 2D :
Option 3 ID :
Option 4 ID :
Status :

Chosen Option :

630680437760
6306801708828
6306801708829
6306801708827
6306801708826
Answered

(o]
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Q.58 4 k0 C

4 k()

Find Ry for the circuit shown in the given figure.

Ans XA 40
XB 1Q
XC2Q
«D. 30
Question ID : 630680437870
Option 1 ID : 6306801709269
Option 2 ID : 6306801709266
Option 3 ID : 6306801709267
Option 4 ID : 6306801709268
Status : Answered
Chosen Option : D
Q59 What is the significance of ‘800 W in domestic wiring?
Ans A Restricted load per sub-circuit (light and fan)
A B. Restricted load for entire house
X C. Restricted load per power sub-circuit
X D. Restricted load per motor load
Question ID : 630680437838
Option 1 ID : 6306801709138
Option 2 ID : 6306801709140
Option 3 ID ; 6306801709139
Option 4 ID : 6306801709141
Status : Answered
Chosen Option : A
Q.60

Energy that can be supplied by a 12V, 120 Ah battery equals
Ans X A. 144 watt-hours

X B. 14400 watt-hours

X C. 14.4 watt-hours

+ D 1440 watt-hours

Question ID : 630680437865
Option 1 ID : 6306801709247
Option 2 ID : 6306801709249
Option 3 ID : 6306801709248
Option 4 1D : 6306801709246
Status : Answered
Chosen Option : D
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Ans

« A Faraday’s first law of Electrolysis
X B. Faraday’s second law of Electromagnetic induction
X C. Faraday’s second law of Electrolysis

X D. Faraday’s first law of Electromagnetic induction

Q.61 If m = mass of substance liberated at electrode and I = current. then *m o I’ represents which of the following laws?

Question ID : 630680437742
Option 1 ID : 6306801708754
Option 2 ID : 6306801708757
Option 3 ID : 6306801708755
Option 4 ID : 6306801708756
Status : Answered
Chosen Option : A
Q.62 For a given 2-phase, 4-wire system, the phase difference between the two phases is equal to
Ans X A 120°
« B. 90°
X C. 180°
X D. Q°
Question ID : 630680437824
Option 1 ID : 6306801709084
Option 2 ID : 6306801709083
Option 3 ID : 6306801709085
Option 4 ID : 6306801709082
Status : Answered
Chosen Option : B
In the circuit shown in the given figure, if the current source is open eircuited, then the current through the circuit will
be equal to
Ans A 02A
XB 0.1A
XC 04A
XD 03A
Question ID : 630680437739
Option 1 ID : 6306801708743
Option 2 ID : 6306801708742
Option 3 ID : 6306801708745
Option 4 ID : 6306801708744
Status : Answered
Chosen Option : A
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Q64 N[ L. C and V are the terminals of which of the following meters?
Ans 7 A Wattmeter

A B. Ammeter

A C. Multimeter

X D. Energy meter

Question ID : 630680437869
Option 1 ID : 6306801709263
Option 2 ID : 6306801709262
Option 3 ID : 6306801709265
Option 4 ID : 6306801709264
Status : Answered
Chosen Option : A

Q65 A motor is NOT used in which of the following domestic appliances?
Ans A Geyser

X B. Refrigerator

X C. Washing machine

X D. Ceiling fan

Question ID : 630680437758
Option 1 ID : 6306801708821
Option 2 ID : 6306801708819
Option 3 ID : 6306801708818
Option 4 ID : 6306801708820
Status : Answered
Chosen Option : A

Q.66 (alculate the period of the signal shown in the given figure.

out

alll ey

m 2m 3m an 5n 6m

Ans X A 1 radians
X B. 0.5 radians
X C. 3 radians
+ D. 21 radians

Question ID : 630680437834
Option 1 ID : 6306801709122
Option 2 ID : 6306801709125
Option 3 ID : 6306801709124
Option 4 ID : 6306801709123
Status : Answered
Chosen Option : D
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Q.67 The value of coefficient of coupling K will be equal to 1, provided

(Assume standard notations)
Ans > A Li=L)+M

XB LitLy=M

#C Lij=L,=M

XD Li=ls=M=0

Question ID : 630680437753
Option 1 ID : 6306801708800
Option 2 ID : 6306801708801
Option 3 ID : 6306801708798
Option 4 ID : 6306801708799
Status : Answered
Chosen Option: C

Q.68 Who among the following observed that “If the flux linking with a coil changes, then an EMF is induced in the coil’?

Ans A Michael Faraday

X B. Hans Christian Oersted
X C. Andre Marie Ampere

X D. Heinrich Friedrich Emil I enz

Question ID : 630680437786
Option 1 ID : 6306801708932
Option 2 ID : 6306801708930
Option 3 ID : 6306801708931
Option 4 ID : 6306801708933
Status : Answered
Chosen Option : A
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Q.69

The given figure represents which of the following transformers?
Ans X A. Potential transformer
X B. Current transformer
X C. Power transformer

+ D Auto transformer

Question ID : 630680437787
Option 1 ID : 6306801708936
Option 2 ID : 6306801708935
Option 3 ID : 6306801708937
Option 4 ID : 6306801708934
Status : Answered
Chosen Option : D

Q.70 Minimum value of power factor

Maximum wvalue of power factor
Ans X A ]

¥ B. 0

KXcC 2
XD ]

Question ID : 630680437859
Option 1 ID : 6306801709224
Option 2 ID : 6306801709222
Option 3ID : 6306801709225
Option 4 ID : 6306801709223
Status : Answered
Chosen Option : B
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Q.71

Current flow
over the
surface

MNo current
flow

The given figure represents a conductor in transmission of electrical energy. It explains which of the

following effects?

Ans A Skin effect
X B. Stroboscopic effect

< C. Corona

& D. Ferranti effect

Question ID : 630680437849
Option 11D : 6306801709182
Option 2 ID : 6306801709185
Option 3 ID : 6306801709183
Option 4 ID : 6306801709184
Status : Answered
Chosen Option : A

Q.72 For a given DC generator if,

V =Load voltage and E = Generated EMEF, then which of the following relations between them is true?
Ans X A V= E
¢B E>V
X C. v 2 =FE
XD V=>E

Question ID : 630680437765
Option 1 ID : 6306801708848
Option 2 ID : 6306801708847
Option 3 ID : 6306801708849
Option 4 ID : 6306801708846
Status : Answered
Chosen Option : B
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Q.73 rms value

For an alternating quantity, average value —

{Assume sine wave)

Ans X A. Peak factor
+ B. Form factor
XC 4
XD 2

Question ID : 630680437783
Option 1 ID : 6306801708918
Option 2 ID : 6306801708919
Option 3 ID : 6306801708920
Option 4 ID : 6306801708921
Status : Answered
Chosen Option : B

Q74 Distributed winding is used for which of the following?

Ans X A Tield of salient pole alternator

X B. Primary and secondary of transformer

X C. Field of DC machine
' D. Armature of DC machine

Question ID : 630680437806
Option 1 ID : 6306801709010
Option 2 ID : 6306801709013
Option 3 ID : 6306801709012
Option 4 ID : 6306801709011
Status : Answered
Chosen Option : D

Q75 Considering semiconductor doping, what is M’ in the acronym ‘PPM’?
Ans o A Million

X B. Microgram

X ¢. Milligram

X D. Mass

Question ID : 630680437851

Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

6306801709192
6306801709191
6306801709190
6306801709193
Answered

A
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Q.76 : o
For any given coil, if

L = Self-inductance of the coil,
@ = Flux through the coil.

N = Number of turns in the coil and
I = Current through the colil,

then which of the following relations is true?
Ans @A 1I=N@

X B N=L®I
X C NL=@I
X D. L=Na&I

Question ID : 630680437752
Option 1 ID : 6306801708795
Option 2 ID : 6306801708797
Option 3 ID : 6306801708794
Option 4 ID : 6306801708796
Status : Answered
Chosen Option : A

Q.77 If S = Stability factor of BIT and B = Current gain of BJT, then which of the following relations between them is true?

Ans o A S < {I—B)

X8 S=—B
Xc. S>(1+p)
XD.S=B

Question ID : 630680437858
Option 1 ID : 6306801709220
Option 2 ID : 6306801709218
Option 3 ID : 6306801709221
Option 4 ID : 6306801709219
Status : Answered
Chosen Option : A

Q78 WWhich of the following pairs represents the same instrument?

Ans X A Megger and Voltmeter
+ B Multimeter and Volt-ohm meter
X C. Tachometer and Frequency meter

X D. Tong tester and Power factor meter

Question ID : 630680437796
Option 1 ID : 6306801708973
Option 2 ID : 6306801708972
Option 3 ID : 6306801708970
Option 4 ID : 6306801708971
Status : Answered
Chosen Option : B
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Q.79 R

Q@ 3

Ans s A. R; and R, are connected in series.

X B. R; and R, are connected in paralle].
X C. Rj is short circuited.
X D. R; is short circuited.

In the circuit shown in the given figure, if i, = 0, then which of the following is true?

Question ID : 630680437740
Option 1 ID : 6306801708746
Option 2 ID : 6306801708747
Option 3 ID : 6306801708748
Option 4 ID : 6306801708749
Status : Answered
Chosen Option : A
Q80 gCR is NOT used in which of the following circuits?
Ans A Filter
X B. Inverter
X C. Rectifier
X D. Chopper
Question ID : 630680437860
Option 1 ID : 6306801709227
Option 2 ID : 6306801709228
Option 3 ID : 6306801709229
Option 4 ID : 6306801709226
Status : Answered
Chosen Option : A
Q8 The chemical composition of magnetite is
Ans KA. F8204
X B. Fe30y
« C. FesOy
X D. Fe 05
Question ID : 630680437750
Option 1 ID : 6306801708786
Option 2 ID : 6306801708789
Option 3 ID : 6306801708788
Option 4 ID : 6306801708787
Status : Answered
Chosen Option : B
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Q.82 ¢ Cs
il i

W —g —— —s b

(=
~
—

In the circuit shown in the given figure, if C; =C, =C3=Cy4=2C, then find C, .

Ans 1

XA
2C

xe 1
C
v e 2C

XD C

Question ID : 630680437842
Option 1 ID : 6306801709156
Option 2 ID : 6306801709157
Option 3 ID : 6306801709155
Option 4 ID : 6306801709154
Status : Answered
Chosen Option : C

Q.83 The way of placing of field winding and armature winding of a large alternator is exactly the opposite of which of the
following machines?

Ans X A Three-phase synchronous motor

« B. DC generator
X C. Single-phase induction motor

X D. Three-phase induction motor

Question ID : 630680437794
Option 1 ID : 6306801708964
Option 2 ID : 6306801708962
Option 3 ID : 6306801708965
Option 4 ID : 6306801708963
Status : Answered
Chosen Option : A

Q.84 Which of the following parameters decide the speed of a three-phase synchronous motor?

Ans X A Number of poles and size of rotor

X B. Supply frequency and shape of rotor
X C. Number of poles and shape of rotor

« D. Number of poles and supply frequency

Question ID : 630680437808
Option 1 ID : 6306801709019
Option 2 ID : 6306801709021
Option 3 ID : 6306801709020
Option 4 ID : 6306801709018
Status : Answered
Chosen Option : D

https://cdn.digialm.com/per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/1258023535/1258023535529D456/17003970781511260/...  86/111



11/23/23, 2:54 PM

cdn.digialm.com/per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/1258023535/1258023535S29D456/170039707 ...

Q.85 Which of the following laws is mainly meant for transmission of electrical energy?
Ans X A Coulomb’s law
+ B. Kelvin's law
X C. Faraday’s law
X D. Ampere’s law
Question ID : 630680437850
Option 1 ID : 6306801709186
Option 2 ID : 6306801709187
Option 3 ID : 6306801709188
Option 4 ID : 6306801709189
Status : Answered
Chosen Option: C
Q.86 R
ANV
ar
] .
. MW el
_"‘J.l e
|
.24 '._
In the circuit shown in the given figure, caleulate I; (current through 4 ohm)?
Ans A GA
XB I0A
XC 4A
XD 8A
Question ID : 630680437841
Option 1 ID : 6306801709150
Option 2 ID : 6306801709153
Option 3 ID : 6306801709151
Option 4 ID : 6306801709152
Status : Answered
Chosen Option : A
Q87 :Candela’ can be matched with which of the following?
Ans & A Luminous intensity
X B. Luminous flux
X C. Tllumination
X D. Lamp efficiency
Question ID : 630680437800
Option 1 ID : 6306801708987
Option 2 ID : 6306801708986
Option 3 ID : 6306801708988
Option 4 ID : 6306801708989
Status : Answered
Chosen Option : A
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Q88 WWhich of the following is NOT a protective device?

Ans X A. Horn gap arrestor

« B. Isolator
& C. Circuit breaker

« D. Capacitor bank

Question ID : 630680437847
Option 1 ID : 6306801709176
Option 2 ID : 6306801709175
Option 3 ID : 6306801709174
Option 4 ID : 6306801709177
Status : Answered
Chosen Option : D

Q.89 If three cells, with internal resistance of 1 ohm each, are connected in series to form a battery, then the total internal
resistance of the battery will be equal to

Ans XA 0.33 ohm

X B. ] ohm
X C. 2 ohm
+ D. 3 ohm
Question ID : 630680437744
Option 11D : 6306801708762
Option 2 ID : 6306801708763
Option 3 ID : 6306801708764
Option 4 ID : 6306801708765
Status : Answered
Chosen Option : D
Q.90 3
< Load
Resistance
PbO; — 1
. H,S0, P
2H' SO,
For the battery shown in the given figure, which of the following is the cathode?
Ans o A Pb
X B. Pb02
X C. Pb04
X D. H2804

Question ID : 630680437746
Option 1 ID : 6306801708771
Option 2 ID : 6306801708770
Option 3 ID : 6306801708773
Option 4 ID : 6306801708772
Status : Answered
Chosen Option : A
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Ans X A three

Q91 The number of neutral wire(s) in a delta connection is .

X B. one
« C. Zero
X< D. two
Question ID : 630680437825
Option 11D : 6306801709089
Option 2 ID : 6306801709087
Option 3 ID : 6306801709086
Option 4 ID : 6306801709088
Status : Answered
Chosen Option: C
Q.92
How many limbs are there for the transformer core, shown in the given figure?
Ans X A Zero
X B. One
X C. Two
+ D. Three
Question ID : 630680437790
Option 11D : 6306801708946
Option 2 ID : 6306801708947
Option 3 ID : 6306801708948
Option 4 ID : 6306801708949
Status : Answered
Chosen Option : D
Q.93 number of poles(p)
For a wave wounded DC machine »wmber parallel paths
Ans XA ]
P
B _
2
xXcp
XD 0
Question ID : 630680437805
Option 1 ID : 6306801709007
Option 2 ID : 6306801709008
Option 3 ID : 6306801709009
Option 4 ID : 6306801709006
Status : Answered
Chosen Option : B
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Q.94

QY

Load

Identify the circuit shown in the given figure.

Ans X A Half wave rectifier
+ B. Full wave rectifier
X C. Voltage stabilizer
X D. Filter
Question ID : 630680437853
Option 11D : 6306801709198
Option 2 ID : 6306801709199
Option 3 ID : 6306801709201
Option 4 ID : 6306801709200
Status : Answered
Chosen Option : B
Q.95 For a 10 kVA single-phase transformer, if the iron losses at half-load are 500 W, then the iron losses at full load will be
Ans @A 500 W
X B. 1000 W
XC 250 W
X D. 2000 W
Question ID : 630680437789
Option 1 ID : 6306801708943
Option 2 ID : 6306801708942
Option 3 ID : 6306801708944
Option 4 ID : 6306801708945
Status : Answered
Chosen Option : A
Q.96 If 10 ohms, 20 ohms and 30 ohums are connected in parallel, then the total resistance will be
Ans % A less than 20 ohms and greater than 10 ohms
+ B. less than 10 ohms
X C. greater than 20 ohms and less than 30 chms
X D. greater than 30 ochms
Question ID : 630680437821
Option 11D : 6306801709073
Option 2 ID : 6306801709070
Option 3 ID : 6306801709071
Option 4 ID : 6306801709072
Status : Answered
Chosen Option : B
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Q.97 T g =ff=at aTer ve PMMC 30T ofiider & v gfaitus & @ry dvfes & gaifea &, 3 39wor
TF g =fge)

Ans XA FreeHreT
X & 3t Hex
wc.ﬂm
X D. FrEeARY

Question ID : 630680437795
Option 11D : 6306801708967
Option 2 ID : 6306801708969
Option 3 ID : 6306801708966
Option 4 ID : 6306801708968
Status : Answered
Chosen Option : C

Q.98 T east value of back EMF in a DC motor is possible at which of the following instances?
Ans A At the time of starting

X B. At 0.5 times the full load

X C. At full load

A D. At 0.25 times the full load

Question ID : 630680437762
Option 1 ID : 6306801708834
Option 2 ID : 6306801708835
Option 3 ID : 6306801708837
Option 4 ID : 6306801708836
Status : Answered
Chosen Option : A

Q.99 In which of the following machines are the starting winding and main winding spaced 90° electrically apart?

Ans X A Three-phase induction motor

X B. Synchronous motor
+ C. Single-phase induction motor

X D. DC shunt motor

Question ID : 630680437811
Option 1 ID : 6306801709031
Option 2 ID : 6306801709032
Option 3 ID : 6306801709030
Option 4 ID : 6306801709033
Status : Answered
Chosen Option : C
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Q100 ynlence electrons in Arsenic =

Ans & A Valence electrons in Phosphorous
X B. Valence electrons in Oxygen

X C. Valence electrons in Silicon

# D. Valence electrons in Aluminium

Question ID : 630680437852
Option 1 ID : 6306801709195
Option 2 ID : 6306801709194
Option 3 ID : 6306801709196
Option 4 ID : 6306801709197
Status : Answered
Chosen Option : A

Q.101 Along with storing electric charge, capacitor can also be used for which of the following applications?

Ans X A Decreasing voltage drop in the circuit
+ B. Increasing power factor
X C. Increasing voltage drop in the circuit
X D. Decreasing power factor
Question ID : 630680437836
Option 1 1D : 6306801709133
Option 2 ID : 6306801709130
Option 3 ID : 6306801709132
Option 4 ID : 6306801709131
Status : Answered
Chosen Option : B
Q102 A diode is a/an switch and an SCR is a/an switch.
Ans

X A controllable; uncontrollable
+ B. uncontrollable; controllable
X C. uncontrollable; uncontrollable

< D. controllable: controllable

Question ID : 630680437864
Option 1 ID : 6306801709242
Option 2 ID : 6306801709244
Option 3 ID : 6306801709243
Option 4 ID : 6306801709245
Status : Answered
Chosen Option : B

https://cdn.digialm.com/per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/1258023535/1258023535529D456/17003970781511260/...  92/111



11/23/23, 2:54 PM cdn.digialm.com/per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/1258023535/1258023535S29D456/170039707 ...

Q.103

Identify the type of joint shown in the given figure.

Ans X A Western Union joint
X B. Britannia joint
« C. Pig-tailor Rat-tail joint
X D. Tee joint
Question ID : 630680437736
Option 1 ID : 6306801708733
Option 2 ID : 6306801708732
Option 3 ID : 6306801708731
Option 4 ID : 6306801708730
Status : Answered
Chosen Option : C
Q104 YWhich of the following differentiates soldering from brazing?
Ans

X A. Specific resistance of the filler metal
+ B. Melting point of the filler metal

/< C. Resistance of the filler metal

X D. Magnetic property of the filler metal

Question ID : 630680437735
Option 1 ID : 6306801708729
Option 2ID : 6306801708726
Option 3 ID : 6306801708727
Option 4 ID : 6306801708728
Status : Answered
Chosen Option : B
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Q.105

Square wave

+V

0 +- + time

The given graph represents an alternating waveform. The number of cycles shown in the graph is

Ans A 2
X B 1
XcC 4
XD 0.5
Question ID : 630680437780
Option 1 ID : 6306801708906
Option 2 ID : 6306801708908
Option 3 ID : 6306801708907
Option 4 ID : 6306801708909
Status : Answered
Chosen Option : A
Q.106 + :
sFdifera o # wefla grar few & waa fifsw
Ans
v A g g
X8 wfaas e
xc Ty Teg
X 0. TaEar Reg
Question ID : 630680437727
Option 1ID : 6306801708697
Option 21D : 6306801708695
Option 3 ID : 6306801708694
Option 4 ID : 6306801708696
Status : Answered
Chosen Option : A
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Q.107 Which of the following is the natural cause for over-voltages in a power system?
Ans A Lightning

X B. Resonance

X C. Insulation failure

X D. Switching surges

Question ID : 630680437844
Option 1 ID : 6306801709162
Option 2 ID : 6306801709164
Option 3 ID : 6306801709165
Option 4 ID : 6306801709163
Status : Answered
Chosen Option : A

Q108 ywith ysual notations, ‘I”Rt’ in an electric circuit represents which of the following?
Ans X A. Flux associated with the circuit

+ B. Energy associated with the circuit

X C. Power associated with the circuit
X D. Charge associated with the circuit

Question ID : 630680437816
Option 1 ID : 6306801709053
Option 2 ID : 6306801709051
Option 3 ID : 6306801709050
Option 4 ID : 6306801709052
Status : Answered
Chosen Option : B

Q109 WWhich of the following is an application of Bakelite?

Ans X A. To make containers for lead acid batteries.

X B. To cover conductors in cables.
X C. To manufacture strain insulators.
« D. To manufacture switches and plugs.

Question ID : 630680437772
Option 1 ID : 6306801708876
Option 2 ID : 6306801708874
Option 3 ID : 6306801708877
Option 4 ID : 6306801708875
Status : Answered
Chosen Option : A
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Ans A two

Q.110 Combination of two BJTs is analysed as an SCR, and combination of

diodes is analysed as a BJT.

X B five
X C. four
X D. three
Question ID : 630680437863
Option 11D : 6306801709238
Option 2 ID : 6306801709241
Option 3 ID : 6306801709240
Option 4 ID : 6306801709239
Status : Answered
Chosen Option : A
Q111 Which of the following machines/devices makes use of liquid insulating material?
Ans & A Transformer
X B. Induction motor
X C. Synchronous generator
X D. DC generator
Question ID : 630680437770
Option 11D : 6306801708866
Option 2 ID : 6306801708868
Option 3 ID : 6306801708867
Option 4 ID : 6306801708869
Status : Answered
Chosen Option : A
Q.112 %
Identify the marked portion in the given figure.
Ans A Shank
X B. Nut
X C. Thread
X D. Head
Question ID : 630680437729
Option 11D : 6306801708703
Option 2 ID : 6306801708705
Option 3 ID : 6306801708704
Option 4 ID : 6306801708702
Status : Answered
Chosen Option : A
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Q.113 LELLS

With usual notations, EMF generated in a DC generated in a DC machine = 604 " In the given expression, for a given
machine, which of the following are constants?

Ans X A @, PandN
B Z,Pand A
AXC N ZandA
XD @ ZandN

Question ID : 630680437768
Option 1 ID : 6306801708860
Option 2 ID : 6306801708859
Option 3 ID : 6306801708858
Option 4 ID : 6306801708861
Status : Answered
Chosen Option : B

Q114 Tdentify the poly phase system shown in the given figure.

j

1V e |

X A 3-phase, 4-wire system

Ans
X B. 2-phase, 4-wire system
+ C. 2-phase, 3-wire system

X D. 3-phase, 3-wire system

Question ID : 630680437833
Option 1 ID : 6306801709121
Option 2 ID : 6306801709119
Option 3 ID : 6306801709118
Option 4 ID : 6306801709120
Status : Answered
Chosen Option : C
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Q.115 If an alternating current has an amplitude of 20 A, then its peak-to-peak value will be

Ans XA 20A
XB —20A
XC —40A
D 40 A
Question ID : 630680437781
Option 11D : 6306801708912
Option 2 ID : 6306801708913
Option 3 ID : 6306801708911
Option 4 ID : 6306801708910
Status : Answered
Chosen Option : D
Q.116 For a given three-phase synchronous motor, which of the following is constant with respect to load?
Ans X A. Armature current
X B. Field current
« C. Rotor speed
X D. Power factor
Question ID : 630680437793
Option 1 ID : 6306801708959
Option 2 ID : 6306801708960
Option 3 ID : 6306801708961
Option 4 ID : 6306801708958
Status : Answered
Chosen Option : C
QM7 Which of the following insulating materials contains sulphur?
Ans XA Mica
+ B. Vulcanised Indian rubber
X C. Asbestos
X D. Quartz
Question ID : 630680437771
Option 1 ID : 6306801708873
Option 2 ID : 6306801708872
Option 3 ID : 6306801708870
Option 4 ID : 6306801708871
Status : Answered
Chosen Option : B
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Q118 Ac

T I, l I 1,
C1 CI c-j
12v
i T]JUF T).EUF Ti.SuF
Bo . i

In the given figure, the total capacitance of the circuit if C, is removed will be equal to

Ans  x A 0.6 UF
X B. 0.01 uF
« C 04 uF
X D. 0.05 uF

Question ID : 630680437820
Option 1 ID : 6306801709066
Option 2 ID : 6306801709069
Option 3 ID : 6306801709068
Option 4 ID : 6306801709067
Status : Answered
Chosen Option : C

Q19 Tdentify the instrument/device shown in the given figure.

Ans A Hydrometer

X B. Hygrometer
X C. Megger

X D. Thermometer

Question ID : 630680437745
Option 1 ID : 6306801708768
Option 2 ID : 6306801708767
Option 3 ID : 6306801708769
Option 4 ID : 6306801708766
Status : Answered
Chosen Option : A
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Q.120

Ans

| =

g g : : 1
For the circuit shown in the given figure, ==

X A Specific conductance of the circuit
X B. Specific resistance of the circuit

X C. Resistance of the circuit

+ D. Conductance of the circuit

Question ID : 630680437832
Option 1 ID : 6306801709117
Option 2 ID : 6306801709116
Option 3 ID : 6306801709114
Option 4 ID : 6306801709115
Status : Answered
Chosen Option : D
Q121 The wave length of the colour orange lies between which of the following colours?
Ans X A. Violet and Indigo
< B. Indigo and Blue
" C. Yellow and Red
< D. Blue and Green
Question ID : 630680437802
Option 1 ID : 6306801708994
Option 2 ID : 6306801708995
Option 3 ID : 6306801708997
Option 4 ID : 6306801708996
Status : Answered
Chosen Option : C
Q.122 1In resistor colour coding, which of the following colours has the highest code number?
Ans X A Yellow
A B. Violet
+ C. White
X D. Black
Question ID : 630680437755
Option 1 ID : 6306801708809
Option 2 ID : 6306801708808
Option 3 ID : 6306801708807
Option 4 ID : 6306801708806
Status : Answered
Chosen Option : C
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Q123 The number of coil sides for a two-turn coil equals

Ans X A four

« B. two
X C. one
X D. three
Question ID : 630680437815
Option 1 1D : 6306801709049
Option 2 ID : 6306801709047
Option 3 ID : 6306801709046
Option 4 ID : 6306801709048
Status : Answered
Chosen Option : B
Q.124
" &
LAMP
For the circuit shown in the given figure. which of the following is true?
Ans X A Lamp will be dim.
X B. Lamp will not glow.
« C. Lamp can be controlled from two locations.
X D. Lamp can be controlled from one location.
Question ID : 630680437873
Option 1 ID : 6306801709279
Option 2 ID : 6306801709278
Option 3 ID : 6306801709280
Option 4 ID : 6306801709281
Status : Answered
Chosen Option : C
Q.125 Which of the following appliances is different from the others in terms of output produced?
Ans X A Electric kettle
X B. Water heater
X C. Electric iron
+ D. Washing machine
Question ID : 630680437757
Option 1 ID : 6306801708814
Option 2 ID : 6306801708816
Option 3 ID : 6306801708815
Option 4 ID : 6306801708817
Status : Answered
Chosen Option : D

https://cdn.digialm.com/per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/1258023535/1258023535S29D456/1700397078151126...

101/111



11/23/23, 2:54 PM cdn.digialm.com/per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/1258023535/1258023535S29D456/170039707 ...

Q126 1dentify the odd one out from the following list of insulating materials?

Ans . A Transformer oil
X B. Rubber
X C. Asbestos
X D. Mica
Question ID : 630680437769
Option 1 ID : 6306801708865
Option 2 ID : 6306801708862
Option 3 ID : 6306801708863
Option 4 ID : 6306801708864
Status : Answered
Chosen Option : A
Q127 Collector
Base
Emitter

Identify the electronic device shown in the given figure.

Ans KA. PN diode
X B. PNP transistor
+ C. NPN transistor
X D. SCR

Question ID : 630680437857
Option 1 ID : 6306801709215
Option 2 ID : 6306801709217
Option 3 ID : 6306801709216
Option 4 ID : 6306801709214
Status : Answered
Chosen Option : C

Q128 \Which of the following machines/devices CANNOT rotate?

Ans . A Transformer

X B. Generator
X c. Pump

X D. Motor

Question ID : 630680437785
Option 1 ID : 6306801708929
Option 2 ID : 6306801708928
Option 3 ID : 6306801708926
Option 4 ID : 6306801708927
Status : Answered
Chosen Option : A
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Q129 Number of field windings in a DC compound generator is equal to
Ans X A one

X B. four
+ C. two
X D. three
Question ID : 630680437767
Option 1 ID : 6306801708854
Option 2 ID : 6306801708857
Option 3 ID : 6306801708855
Option 4 ID : 6306801708856
Status : Answered
Chosen Option: C
Q130 YWhich of the following materials exhibits properties similar to silicon?
Ans o A Germanium
X B. Mica
X C. Asbestos
X D. Aluminium
Question ID : 630680437840
Option 1 ID : 6306801709147
Option 2 ID : 6306801709146
Option 3 ID : 6306801709148
Option 4 ID : 6306801709149
Status : Answered
Chosen Option : A
Q.131 Number of terminals of SCR
Number of terminals of transistor
Ans X A 1.5
X8 2
«C ]
XD 25
Question ID : 630680437861
Option 1 ID : 6306801709231
Option 2 ID : 6306801709232
Option 3 ID : 6306801709230
Option 4 ID : 6306801709233
Status : Answered
Chosen Option : C
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Ans X A. AC generator

X B. Transformer
X ¢. DC generator

Q.132 Which of the following does NOT operate based on electromagnetic induction?

« D. Geyser
Question ID : 630680437829
Option 1 ID : 6306801709103
Option 2 ID : 6306801709104
Option 3 ID : 6306801709102
Option 4 ID : 6306801709105
Status : Answered
Chosen Option : D
Q.133 Ina 3-phase, 3-wire star connection, if the line current = K (phase current), then what is the value of ‘K'?
Ans 1
KA —
V3
X5 V3
v C 1
XD 2
Question ID : 630680437827
Option 1 ID : 6306801709096
Option 2 ID : 6306801709095
Option 3 ID : 6306801709094
Option 4 ID : 6306801709097
Status : Answered
Chosen Option : C
Q.134 Which of the following electrical appliances consumes more energy, assuming same run time?
Ans X A Tube light
+ 8. Pump motor
X C. Ceiling fan
X D. Television
Question ID : 630680437761
Option 1 ID : 6306801708831
Option 2 ID : 6306801708833
Option 3 ID : 6306801708830
Option 4 ID : 6306801708832
Status : Answered
Chosen Option : B
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o I ,\’L

The symbol used in UPS, in the given figure, represents which of the following?
Ans X A Rectifier

X B. Battery

X C. Inverter

« D. Static bypass switch

Q.135

Question ID : 630680437867
Option 1 ID : 6306801709255
Option 2 ID : 6306801709257
Option 3 ID : 6306801709254
Option 4 ID : 6306801709256
Status : Answered
Chosen Option : C

Q.136 R L C

O

The circuit shown in the given figure will behave like an inductive circuit if
Ans A Xp < Xe
XB R=0
" C. XI_. > XC
X D. XL = XC

Question ID : 630680437823
Option 1 ID : 6306801709079
Option 2 ID : 6306801709081
Option 3 ID : 6306801709078
Option 4 ID : 6306801709080
Status : Answered
Chosen Option: C

https://cdn.digialm.com/per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/1258023535/1258023535S29D456/1700397078151126... 105/111



11/23/23, 2:54 PM cdn.digialm.com/per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/1258023535/1258023535S29D456/170039707 ...

Q.137

If the voltage of the battery, in the given figure, is 9 V, then the voltage of each cell=_
Ans XA 2V
XB 25V
Xc 3V
«D. 15V

Question ID : 630680437868
Option 1 ID : 6306801709260
Option 2 ID : 6306801709259
Option 3 ID : 6306801709258
Option 4 ID : 6306801709261
Status : Answered
Chosen Option : D

Q138 The type of safety sign is recognised by which of the following?
Ans A Shape and colour
X B. Shape and strength
X C. Shape and size

X D. Sjze and colour

Question ID : 630680437724
Option 1 ID : 6306801708683
Option 2 ID : 6306801708685
Option 3 ID : 6306801708682
Option 4 ID : 6306801708684
Status : Answered
Chosen Option : A

Q139 ‘Danger 415V" comes under the category of which of the following safety signs?
Ans

X A. Prohibition sign
+ B. Warning sign

X C. Mandatory sign
X D. Information sign

Question ID : 630680437725
Option 1 ID : 6306801708686
Option 2 ID : 6306801708688
Option 3 ID : 6306801708687
Option 4 ID : 6306801708689
Status : Answered
Chosen Option : A
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Q.140 M
Assuming usual notations, if for a transformer Nz . then that transformer is called
Ans X A jsolation transformer

+ B. step down transformer

# C. instrument transformer

X D. step up transformer

Question ID : 630680437788
Option 1 ID : 6306801708938
Option 2 ID : 6306801708939
Option 3 ID : 6306801708941
Option 4 ID : 6306801708940
Status : Answered
Chosen Option : B

Q.141 The PVC cables used for domestic wiring consists of which of the following material(s)?

Ans A Conducting and insulating materials

X B. Conducting and semi-conducting materials
X ¢. Insulating and semi-conducting materials

X D. Only conducting materials

Question ID : 630680437822
Option 1 ID : 6306801709074
Option 2 ID : 6306801709075
Option 3 ID : 6306801709076
Option 4 ID : 6306801709077
Status : Answered
Chosen Option : A

Q.142 For a given three-phase induction motor which is running, which of the following is true?

Ans

X A Supply frequency = 0 (always)

X B. Supply frequency < Rotor frequency
« C. Supply frequency > Rotor frequency
X D. Rotor frequency = 0 (always)

Question ID : 630680437814
Option 1 ID : 6306801709044
Option 2 ID : 6306801709043
Option 3 ID : 6306801709042
Option 4 ID : 6306801709045
Status : Answered
Chosen Option: C
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Q.143

For the electric appliance shown in the given figure, which of the following is filled between
the inner tank and the outer casing?

Ans X A Asbestos

X B. Air

+ C. Glass wool

X D. Mica
Question ID : 630680437759
Option 1 ID : 6306801708825
Option 2 ID : 6306801708822
Option 3 ID : 6306801708824
Option 4 ID : 6306801708823

Status : Answered
Chosen Option: C
Q.144 154 2
i
54

Potential difference between any two corners of the square shown in the given figure will be equal to

Ans X A 5V
XB 1V
« C. Zero
XD 10V

Question ID : 630680437738
Option 11D : 6306801708741
Option 2 ID : 6306801708739
Option 3 ID : 6306801708738
Option 4 ID : 6306801708740
Status : Answered
Chosen Option: C
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Q.145

Ans

q_

What does the given circuit symbol represent?
X A Fuse

X B. Circuit breaker

X C. Relay

« D. Double break isolator

Question ID : 630680437843
Option 1 ID : 6306801709161
Option 2 ID : 6306801709159
Option 3 ID : 6306801709160
Option 4 ID : 6306801709158
Status : Answered
Chosen Option : D
Q.146 Which of the following helps to achieve high voltage and at the same time to limit the current in a fluorescent lamp?
Ans X A Tube
X B. Electrodes
+ C. Choke
X D. Starter
Question ID : 630680437803
Option 1 ID : 6306801709000
Option 2 ID : 6306801709001
Option 3 ID : 6306801708999
Option 4 ID : 6306801708998
Status : Answered
Chosen Option: C
Q.147 Which of the following types of lamps takes time to achieve full brightness after being turned on?
Ans A Sodium vapour lamp
X B. Fluorescent lamp
X C. Incandescent lamp
X D. Neon lamp
Question ID : 630680437804
Option 1 ID : 6306801709005
Option 2 ID : 6306801709003
Option 3 ID : 6306801709002
Option 4 ID : 6306801709004
Status : Answered
Chosen Option : A
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Q.148 —_—

O

—0

The given figure represents

Ans X A a Transformer
« B. a DC voltage source
X C. an AC voltage source
X D. a DC current source
Question ID : 630680437837
Option 1 1D : 6306801709137
Option 2 ID : 6306801709134
Option 3 ID : 6306801709135
Option 4 ID : 6306801709136
Status : Answered
Chosen Option : B
Q.149
Identify the insulating material shown in the given figure.
Ans

X A. Porcelain
+ B. Glass wool
X C. Asbestos
X D. Mica

Question ID : 630680437839
Option 1 ID : 6306801709145
Option 2 ID : 6306801709144
Option 3 ID : 6306801709142
Option 4 ID : 6306801709143
Status : Answered
Chosen Option : B
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Q.150 Which of the following machines CANNOT be run by a three-phase induction motor?

Ans X A Conveyor belt

X B. Compressor
X Cc. Pump
+ D. Turbine

Question ID : 630680437813
Option 11D : 6306801709041
Option 2 ID : 6306801709039
Option 3 ID : 6306801709040
Option 4 ID : 6306801709038
Status : Answered
Chosen Option : D
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